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In ¢this book ¢

Your child will learn :

Read and write numbers u'p t0 999.

Comparing and ordering numbers up to 999 .
Adding and subtracting 2-digit numbers up to 99
Recognize 2-dimensional shapes.

Recognize 3-dimentional shapes.

Use the ruler to measure length.

Read the time using analog clock and digital clock.§
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L.esson 1:
Lesson 2:
Lesson 3:
Lesson 4:

Lesson §:

STATISTICS
The bar graph & pictograph
The bar graph & pictograph

NUMBERS UP TO 999
Ones, Tens and Hundreds

Reading and writing numbers up to 999
The place - value

Before and after
Comparing two numbers

Arranging the numbers upto 999 -----cccoceeeenenn 51
General EXercis@s «---:c-ccvverriiiiiiiiiiiiiiiiii. 33

Adding 2-digit numbers ( By regrouping )
Adding 2-digit numbers ( By ten components )
Subtraction by regrouping

Word problems
The relation between addition and subtraction -..........

GEOMETRY AND MEASUREMENT
Two-dimensional Shapes - -« --ccvrorerreeneeenn.
Measuring length
3-dimensional shapes

Telling the time : - Analog clock

- Digital clock
General Exercises
r Models
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STATISTICS
Bar graph & Bictograph
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Favorite Fruit

Number of Students

¥ ° Yy v S L

Apples Oranges Bananas Strawberries Kiwis Pears

1) Complete the following table :

-
Favorite ‘ @ &J v L
Fruit Apples | Oranges | Bananas | Strawberries | Kiwis | Pears
Number of
Students
2) Use the bar graph : complete usin <, =or >:
a) Number of students liked Apples Number of students liked Kiwis
b) Number of students liked Oranges Number of students liked Bananas
c) Number of students liked Pears Number of students liked Strawberry

3) Answer the questions:

a) How many students liked oranges ? ..............

b) How many more students liked strawberries than pears ? .............

c) How many students all togethr liked kiwis , apples and oranges ? .............
d) Which fruit is liked the most ? ......c...coeeueennnnnnenn.

e) Which fruit is liked the least ? .......cccccoevneeeeniil

—

- - - - —_— e s = =

(37



LN Y —

Look at the data in the pictograph and answer the questions:

romers| 43| | | B B| B
o) DD DD DD D
ones | 4B 4B | 4B | B | B
watr| 3 | B

Key: A =2 People

Complete the following table :

Favorite Pizza | Green
Toppings Peppers

Number of
people

Cheese | Olives Mushrooms

a) How many people liked cheese and green peppers ?

90@@@@@@@@00otoooccoaoo0000000000@9@©@®@@©é@og



Favorite Fruit

Number of Students

¢ o

N A
=/

..

Apples Oranges Bananas Strawbemies Kiwis Pears

1) Complete the following table :

ravore | @ | 4

Fruit Apples | Oranges

S |6 | &

Bananas Strawbérries Kiwis Pears

Number of

Students

2) Use the bar graph : complete usin <,=or >:

a) Number of students liked Apples
b) Number of students liked Oranges

C) Number of students liked Pears

3) Answer the questions:

Number of students liked Kiwis

Number of students liked Bananas

Number of students liked Strawberry

a) How many students liked oranges ? ..............

b) How many more students liked strawberries than pears 7 .............

c) How many students all togethr liked kiwis , apples and oranges ? .............
d) Which fruit is liked the most ? ....
e) Which fruit is liked the least ? ....

. e B
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Look at the Favorite Colors graph and then answer
questions about the data.

) 70 . Favorite Colors of 200 Students  Colors N:d'ng:':gf

z o RED

é 50 .

G 4 BLUE

Z 30 GREEN

S . YELLOW

“ 10 2 ORANGE

0 J
RED BLUE GREEN YELLOW ORANGE PINK PINK
COLORS

Use the bar graph : complete usin <,=or >:
a) Number of students liked RED Number of students liked GREEN
b) Number of students liked BLUE Number of students liked YELLOW.
C) Number of students liked GREEN Number of students liked ORANGE
d) Number of students liked YELLOW Number of students liked PINK
€) Number of students liked ORANGE Number of students liked BLUE
f ) Number of students liked PINK Number of students liked RED

Answer the questions:

a) How many people liked red best? ..................
b) How many people liked blue best?...................

C) How many people liked green best?...................
d) How many people liked yellow best? _.................
e) How many people liked orange best?..................

f) How many people liked pink best?...................
g) How many people liked pink and blue (pink + blue)?..................

h) How many more people liked yellow than green (yellow - green)?............. .
i ) How many people liked red and blue (red + blue)?..................

J) How many more people liked blue than orange (blue - orange)? ................

qo@oeeoeaao@@soooocsaoooo.oooooooa@@@@®@09060b
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Look at the Pick a Flower pictograph and then answe :

Saturday

Sunday

key

Monday

RE || A -5 o

Tuesday

: * =10 flowers

Wednesday

ke sk ok
ik e ek ok

Thursday

1) Complete the following table :

The day Saturday | Sunday

Monday { Tuesday |Wednesday {Thursday

Number of flowers

2) Use the bar graph : complete usin <,=or >:

a) Number of flowers on Sunday

b) Number of flowers on Saturday
c) Number of flowers on Wednesday
d) Number of flowers on Monday

€) Number of flowers on Tuesday

) Number of flowers on Thursday

Number of flowers on Thursday
Number of flowers on Sunday
Number of flowers on Monday
Number of flowers on Wednesday
Number of flowers on Saturday
Number of flowers on Saturday

3) Answer the questions:

a) How many flowers were picked on Monday 7 ..............

b) How many flowers were picked on Tuesday 7 ..............

c) How many more flowers were picked on Saturday than Sunday ? .............

d) How many more flowers were picked on Monday than Tuesday? .............

e) How many flowers were picked on Wednesday and Monday ? .............

f) How many flowers were picked on Thursday and Sunday ? .............

g) Which day had the most number of flowers picked ? ..........cccccvvueunennn.

h) Which day had the least number of flowers picked ? .........cccccvuverrennnen.
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Look at the pictograph and then answe :

ATy & 4% ;..g“"r " o P NP

Sara |&HEHEHEDH D@

*K.m‘{.

Tamer |HS DS

i BHBEBBH B | & =

Adam @@%

sandy |HSHSHS S E

Jana @@@@@

1) Complete the following table :

Name Sara [Tamer| Nader| Adam| Sandy{ Jana

Number of
Cookies

2) Use the bar graph : complete usin <,=or >:

a) Number of cookies Sara ate
b) Number of cookies Nader ate

¢) Number of cookies Sandy ate

L]

d) Number of cookies Tamer ate

e) Number of cookies Adam ate

f) Number of cookies Sandy ate

Number of cookies Tamer ate
Number of cookies Adam ate
Number of cookies Jana ate
Number of cookies Sandy ate
Number of cookies Sara ate

Number of cookies Sara ate

3) Answer the questions:

a) How many cookies did Tamereat ? ..............

b) How many cookies did Jana eat ? ....

c) How many more cookies did Sara eat than Adam ? .............

d) How many more cookies did Sandy eat than Jana ? .............

e) How many cookies did Sara , Nader and Adam eat ? .............

f ) How many cookies did Tamer and Sandy eat ? .............

g) Who did eat the most number of cookies ? .............cccccuuvnneenn

h) Who did eat the least number of cookies ? ............ccce.........
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Use the following table to complete the bar graph :

A Books read last summer
10 J Books read last summer
o Names | i iR
g 7 Alaa 8
8 6+ Adam 6
; : Sara 4
E 3- Sandy 7
Z 2.
14 Youssef 2
0 Alaa Adam Sara Sandy Youssef Lara » Lara “
Names

1) Use the graph to order the names who read the books from

the least to the greatest :

2) Use the bar graph : complete usin <,=or >:

a) Number of books that Alaa read
b) Number of books that Sara read

| c) Number of books that Yossef read

Answer the questions:

a) How many books did Sararead ? ....

Number of books that Sandy read
Number of books that Lara read

Number of books that Sandy read

b) How many more books did Alaa read than Lara ? .............

c) How many books all togethr did Sandy , Youssef and Adam read ? .............

d) Who read the greatest number of books ? ...........ccccevenue.....

e) Who read the least number of books ? ..........cccceceevrreenne

—{0 /



Use the following table to complete the bar graph :

A Favorite vegetable
kind of Number of
o Camols _‘b vegetable Students
'§ = Carrots ﬁ 15
g Cm R Com 7z | 30
S e
%5 Cucumber 6 Gucumber 6 45
'§ Beans 2B Beans  gf& 10
S 2
¥ ) Peas =%| 30
Peas %

0 5 10 15 20 25 30 35 40 45 50

Number of Students

1) Use the bar graph : complete usin <,=or >:

a) Number of Students liked carrots Number of students liked Cucumber
b) Number of Students liked Beans Number of students liked carrots
¢) Number of Students liked corn Number of students liked Peas

2) Answer the questions:

a) How many students liked Carrots ? ..............

b) How many more students liked Corn than Peas? .............

c) How many students all togethr liked Carrots , Beans and Corn ? .............
d) Which vegetable is liked the most ? ...........ccccuueeeeen....

e) Which vegetable is liked the least ? ...........................

3) Use the bar graph to order the kinds of vegetables

from the greatest to the least
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 HOMEWORK

Look at the Pick a Flower pictograph and then answe :

Saturday * * oy
Sunday * * * * * = 5 flower
Monday * * * * * * = 10 flowers

W W W W

‘Complete the following table :

Tuesday

The day Saturday Sunday Monday Tuesday

Number of flowers

60

50 4

40 -

30 -

20 -+

Number of flowers

10 ~

0 The day
Saturday Sunday Monday Tuesday

Answer the questions:

a) How many flowers were picked on Tuesday ? ..............
b) How many more flowers were picked on Sunday than Saturday ? .............
¢) Which day had the most number of flowers picked ? .......ccccevveeeeermnens

d) Which day had the least number of flowers picked ? ........cc.ecvveveeeennns

- -_— e B -~ B o M e am — e o e B A
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Look at the animals on a farm pictograph then answer :

Animals on a Farm
Key = Each animal picture represents 5 animals
o |9 [ [
Chickens ! ! ! ‘ ! ! !

o | G | W | W | W | W
TYPES OF Cows Goats Chickens Sheep

ANIMALS

NUMBER OF

ANIMALS

Animals on a Farm

35
30
251
20 ]
15
104

NUMBER OF ANIMALS

0 TYPES OF ANIMALS
Cows Goats Chickens Sheep

How many cows are there onthefarm 7 .....................
How many goats and chickens on the farm 7 .....................
What is the most type of animals on the farm? .....................

What is the least type of animals on the farm? .....................

ﬂe@eaea@@ooooouocoo900.10.0.00.000&@@@@@@a@@@E
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Convert the same data from pictograph into
a bar graph then complet the table

by ¢f VOV

Fish o (P WP Q

i b POPPP PP |V

‘ 1 student

i PVOPO®
Yo

A
ﬁ Dog kind of | Number of
pet students
5 &b rin Dog
-§ k_, Cat Fish
“ Cat
’ Bird
Bird
& rurte —
0123456760 nhnehubh
Number of students
1) Use the bar graph : complete usin <,=or >:
a) Number of Students liked Dog Number of students liked Bird
b) Number of Students liked Fish Number of students liked Turtle
c) Number of Students liked Cat Number of students liked Dog
d) Number of Students liked Bird Number of students liked Fish

2) Answer the questions:

a) How many students liked Fish ? ..............
b) How many students liked Bid ? ..............
¢) How many more students liked Cat than Bird ? .............

d) How many more students liked Bird than Turtle ? ..............
e) How many students all togethr liked Dog , Fish and Cat ? ...........
f) How many students all togethr liked Cat , Bird and Turtle ? .............

g) Which pets is liked the most ? .........ccccevueerenenen.
h) Which pets is liked the least ? ...........c.cccceemneeee.

=y aa - - e - e — - — - - P
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Use the following table to complete the bar graph :

? Books read last summer

104 Books read last summer
: 7 Names yful:nogek;

g T Alaa 7

3 6+ Adam 2

; :: Sara 8

E 31 Sandy 7

£ 2.4
1- Youssef 6

Alaa Adam Sara Sandy Youssef Lara Lara 4

1) Use the graph to order the names who read the books from
the least to the greatest :

2) Use the bar graph : complete usin <, =or >:

a) Number of books that Alaa read Number of books that Sandy read
b) Number of books that Sara read Number of books that Lara read
c) Number of books that Yossef read Number of books that Sandy read

Answer the questions:

a) How many books did Sararead ? ..............

b) How many more books did Alaa read than Lara ? .............

c) How many books all togethr did Sandy , Youssef and Adamread ? .............
d) Who read the greatest number of books ? .........ccceceuueerenn...

e) Who read the least number of bOOKS ? ......ccccoeeeeevvereennn.
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Numbers
up to 999




L 4

nes , Tens :
L 4

[ 4

and Hundreds
o8

"

P T

10 Tens =100
One hundred

CEIN ¥ —

o@oQ
e i
¥

4 Hundreds |(+| 5Tens | +|8ones (=458

Four hundred fifty eight

V' z T\
/ )
' Duitm v T =g ¥
F S S ) L ST o S Y=,

isw‘.s . > X

Six hundred fifty three
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Write the number

[}
a
a

Hundreds +

Tens +

Ones

aoo
oEE
@ao

ag
oomQ

................................................................................................

oooo
o@oOoo

................................................................................................
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Tens +

Ones

= -— - - - -
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Write the number

HOMEWORK

oo

Hundreds +

Tens +

Ones

oa
ooo
ooo

[E )]
agono

................................................................................................

ogo
ooQ

................................................................................................

................................................................................................

oo
oo

Tens +

= — - - - - P, |
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Write the number

pDoooo

Hundreds +

Tens +

...............................................................................................

Ones

=

ans
oo
ao

5]

ooo

0oa
5]
oo
oa
oo

Ones
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- Choose the correct answer )

@ Thirty five (in digits ) = -

. 3 hundreds + 5 tens o+ 2 ONES = «oeereeeeeee

@ 30+50=

. 10 tens =.... hundred
. The number after 29 is ...

( 30 or 35 ors53 )

( 3520r 253 0r532 )

( 350r 53 or 80 )
(100 0r 10 or 1 )
( 28 or 30 or 29 )

(88 Complete the following )

@ Sones+7 tens =
@ The smallest 2-digit - number is
@ The value of the digit 5 in the number 58 is

-------------------------

---------------------------

@ The greatest number forme from the digits 5 and 8 is ...............

@ 20,25, 30,35,

(@i Answer the following )

@ Find the result :
25+ 33=e.

85 +11=ens

48 - 38=rneeee

69 - 32=nee.

. Arrange the following numbers in an ascending order .

----------------------

. Mona has LE 38 and Nada has LE 51.

How much money do they have altogether ?

The have EE eveereersersessannes +

{

-

i — - - 2L - -

- - — =

—{(23 /
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4( l-lundnds )_L._)_

5 5 ?
Five hundred and Fifty Five

Complete :

a) 5 hundreds + 2 tens + 3ones =.......... , and
thenumberisread as : ...
b) 5 tens + 3ones+7hundreds =.... .. . , and
thenumberisread as ..o
c) 8 hundreds + 2 ones + 7tens = . . , and
thenumberisread as : ...
d) 3 hundreds + 4ones =...... . . ... , and the number
isread as ..o e
e) 9 hundreds + 2 tens = ... . , and the number
isreadas :.. . ... e e e

OO 0o 0P00000PaRNNE000000000000000c000c0000000k
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Write the following Table :

The place The number

Hundreds| Tens |Ones '_ Inwords

5 7 2

8 6 B | e

3 O 2 ...............................................................................................

7 8 0 ...............................................................................................
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, B BT | e
_________________________________ 209
.................................. 730 | o,
..................................................... Nine hundred and sixty two
..................................................... Two hundred and fifty
...................................................... Five hundred and two

a) ... hundreds + ....... tens +....ones =896 , and the number
IS TEAT @S . ..o
b) .....tens +.....hundreds * .....ones =732 , and the number
IS FCAU @S & ..ot i
C) ... ones + ... tens+ ... hundreds =617 , and the number
ISPEAA @S ..o s
d) ... tens + ... hundreds + ....... ones = ... , and the number

e) ... hundreds + ....... ones+...tens =....... , and the number

is read as : Seven hundred and eighty four .

f) ..o hundreds + ....... tens+...ones = ... , and the number

is read as : Two hundred and fifty .

—{83 /
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- HOMEWORK _

Complete the follwing

1) 7hundreds +3 tens+4ones = ........... , and the number is
PEAL A & .o oo

2) Shundreds +6tens+2ones = ........... , and the number is
LA A & . oot

3) 4hundreds +5tens+1ones = ........... , and the number is
AN A & ..o

4) 3hundreds+7ones+5tens = ........... , and the number is
PCAN B & ..ot

5) O hundreds +6ones +2tens = ........... , and the number is
A A & .ot

6) 2ones+6tens+4 hundreds = ........... , and the number is
AN A & .o

7) 9hundreds +8ones=........... , and the number isread as

8) Shundreds +3tens=........... , and the number isread as

9) 3tens+6 hundreds = ........... , and the number isread as

10) 8 hundreds = ........... , and the number isread as

...........................................................................................................

GO0Q0PRRPRNOIPERDN00000000800C NP NI0CRR®00 00k
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Complete the following table :

The place

The number

2 9 R
3 | 5|2 e
S I O e P
N B LT | IO
I O

...............................................................................

..........

932

...............................................................................

..........

..........

589

...............................................................................

...............................................................................

....................

...............................................................................

....................

..........

...............................................................................

Eight hundred and Thirty one

Four hundred and seventeen

One hundred and fifty nine

...................

Six hundred and two

Five hundred and thirty

-l e e -
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Complete
1)....hundreds +.....tens +....ones=965 , and the number
ISPEA @S & ... . e
2)....hundreds +....tens +....ones=579 , and the number
ISread @S & .. e
3) ... hundreds + ..... tens + ... ones=239 , and the number
ISread as & . ... ..
4) ... tens +....ones +.... hundreds =53 2 , and the number
ISread @S & . e
5) ... ones+.... hundreds+....tens =608 , and the number
E =T T« I T T
6) ... tens + ... hundreds +.....ones =830 , and the nhumber
IS reA @S & ... e
7) ... tens +.....hundreds +....ones =287 , and the number
IS P@AU @S 1 ... e
8)..... hundreds +.....ones +....tens = 381 , and the number
IS read as & .. .
9).... hundreds +.....tens +.....ones=507 , and the number
IS @A @S & ...
10) ..... tens +..... hundreds + ..... ones=820, and the number
ISread @s & ...

GOoo0oRe200@09 OQQQQQ......QOOOQ.QQ.QQQQQQGQ@@@O 2
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11).....hundreds +.....tens +....ones=......... , and the number
is read as : Five hundred and twenty four .

12)....hundreds +.....tens +....ones=......... , and the number

13) ..... hundreds +.....tens +....ones=........ , and the number

is read as : Eight hundred and seventy nine .

14) ... tens+...ones+ ... hundreds=........ , and the nhumber

15) ... ones+... hundreds +....tens =........ , and the number

is read as : Nine hundred and Ninety nine .

16) ..... tens +.....hundreds +.....ones=......... , and the number

17).....tens +..... hundreds +...ones=.... , and the number

is read as : Six hundred and fifty two .

18).....hundreds +.....ones+.....tens =......... , and the number

19)....hundreds +.....tens +....ones=..... ... , and the number

20).....tens +....hundreds+....ones=... .. , and the number

is read as : Nine hundred and ninety

N e o aA m S L Al S e S A x s ED
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Choose the correct answer \

@ 6 hundreds +50nes + 7tens = -+, (657 or 675 or 576)
@ Two hundred and fifteen =............. (215 or 250 or 251)
@ The value of 5 in the number 75is......... (5 or 50 or 15)
@ The greatest 2-digit—numberis ............. (10 or 90 or 99 )
@2+50= o (25 or 52 or 70)
- Complete the following )

hundreds +....... Tens + ........ ones= 798
. 798 isreadas-.-.--.-----vooeevvnnnnn U .

-----------------------------------------------------------------------------

@ The place-value of 7 inthe number 78is --.----...
@ The smallest number formed from 7 and 3 is. -
@ 7tens+3hundreds=.............

-Answer the following )
. Find the result :
5 1 | 2 6 75 69
+3 8 + 56 2 -55 -27

---------------------------------------------

7 ,17 , 7 , 17 , 27

&) Hesham had LE 75 , He bought a ball for LE 36.
Find the remaining money with him

The remainder= .............. m e, =LE........

o0 000000000 000000000000 00000R8000C00CQQR0Q0Q00Q00OB0N



The value of the digit 5 in the number 358 is 50
The place - value of the digit 5 in the number 358 is tens

Write the place - value of the digit 4 in each of the following

Write the value of the digit 5 in each of the following :
3)758:' .................. b) 598 s C)985:' ..................

Write the value and the place - value of the encircled digit :

The number The value The place - value
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Circle the value of the underlined digit :

356 789 527 963
300,30,3 | 800,80,8 | 700,70,7 | 600,60,6
593 127 354 209
900,90,9| 200,20,2 | 400,40,4 | 100,10,0

Complete :

@b356= 300+50+6

a)876= ........ s o i
c)258=200 + g

b)789= .......... + ........ + .......
d)697= .......... +90+ .......

0000@0@0@@000000000000000.0...‘.0@@@@@@@@0@@0"

€)= 500 + 0 + 7 | f) = 600 +40 + 2
g) ........... =200+ 30 h) ........... = 600+5
|)405= ........... O OTRI J) 380 =-eeeee . R
Complete :
f—H \(—H
[250].'.[ ........ ] L300J+[ ........ ]
[200]+L ....... ]+[ ........ ] [ ....... j +L 80 ]+[ ........ J
980
f_H
[ ........ ]+L0 ] [ ........ Jq{ ........ ]
vf—)\—\ H (—/ Y ¥
[ ........ ]...[ ........ ].|.[ ........ ] [600]"'[ 4oj+[ 8 J
A\ 88—



. HOMEWORK |

Write the value and the place value of the encircled digit :

The number

The value

The place - value

OLE

................................

--------------------------------

3@7

................................

................................

2 6(8)

--------------------------------

--------------------------------

21

................................

................................

OL&:

................................

................................

6 2(0)

--------------------------------

................................

OLE

................................

................................

6107

--------------------------------

................................

2(8)4

................................

................................

—{(84 /
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Circle the value of the underlined digit :

567 285 368 378
500, 50, 5|200, 20, 2 (600 , 60 ,6(700 , 70 , 7
359 637 507 830
900, 9,9 (700,70, 7 100,10, 0 (100,10, 0
732 356 978 386
200, 20, 2 |500, 50, 5 /900, 90, 9 |300, 30, 3
714 369 125 943
100, 10,1 (900,90, 9 100, 10, 1 (400, 40, 4

Complete :

9)736=700+" PR
11) e = 500 + 30 + 2
13) --- - =20+800+5
15) oo =500 + 20

17) ooeenene =200+ 9

19) .......... =60+ 5 + 300

g 4 LR =700+ 30+2
18) ::0 =600+4+90
16)--oee. =700+ 3
18)---een: =500 + 80
20) - =5+200+60

o!ooooooa@@ooeooooooocoo0900000009@@@@@@@@9000Lﬁ
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Complete :

—
o) U
N~
F :

=) :

o~ F
NJ | M

5 ]
e

260)+|
)+

[6 8 0]4.[

f—}

J+(92]

v,__/’

H
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Complete the following :

1) The value of the digit 5in the number 356is........
2) The value of the digit 3 in the number 963is........
3) The value of the digit 6 in the number 689is........
4) The place - value of 5in the number 356is........
5) The place - value of 7 in the number 761 is ........
6) The place - value of 0 in the number 509is ........
7)500+30+2=........
8)70+300+5=........
9)500+30=........
10) 600+2=........
11) 756=........ +
12) 398=........ +...... +.....
13) 608=........ +......
14) 790=........ +.......

18) ........ hundreds + ........ tens+....... ones = 356
19) ........ tens+....... ones +........ hundreds = 831
20) ........ hundreds + ........ ones = 607

OOQQQGGQ@‘@Q@0.0..O.’Oﬂ‘GOQOOOOGOG@@Q@OG@@OGGOIO
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- Choose the correct answer \
@ The value of 5 in the number 562 s ... (5000r 50 or 5 )

@ 6tens + 50nes + 3 hundreds =--+----- (653 or 365 or 536)
@ 7+20+600=---- (726 or 267 or 627)
@ Two hundred and sixty five = -------- ( 265 or 562 or 652)
@ t1otens=-...... Hundreds (1000r 10 or 1)
- Complete the following )

@ The place-value of 8 in the number 789is --..-.........
@ hundreds +..... tens + ..... ones =983
. In the number 396 , The digit3isin.......... place and its

72 Y [T 1= 3% 1SS
@ The number 627isreadas ...........c..coocoviieiiiiienen.n.

-Answer the following )

@ Find the result :
35 +23=-------- 79 - 54=--------
12+47=---..... 96 - 76=--..---.

@ Arrange in a descending order :
90,99,9, 19, 39

se 9 rees sease § cevos s o 9 recevece § csee ae s

Hadeer bought a pen for LE 12 . and a book for LE 35.
How much moneyn did she pay ?
Shepaid:....'- ....... =LE .......

{257
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The number 245 comes right after 244
The number that comes right after 244 is 245

E The number 317 comes right before 318
The number that comes right before 318 is 317

The number that comes right after :

a)354is...............  b)568is ................
c)218 is................ d)689is ..........

e) 540 is................ ) 309is ................
g) 809 is............... h) 99is ................

The number that comes right before :

a) 543 iS ....ccccccoceee. D) BBOIS -ooioveeennnn.
c) 241is -ocooceevecee ) 600S -ooooeennn.
€) 400 s «.-ooeeoeeeee. F) 14418 oooeeen.
g) 810 is ........c....... . h)1001is ...ooooenn

o}oooooee&@oo 0:.0.0000069000.0000@@@@@@@@@@@09'@
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Complete in the same pattern :

a) 126 , 126 , 127 , ... .. s
D) 877 , 378 , 379 5 -ccorriiie s eeriiiie s eeaaeannn,
C) 578 , 577 , 576 5 . ooiieii s iy e
d) 504 , 503 , 502 , ...l iy e
€) 497 , 498 , 499 , ..oy iy e
£) 504 , 503 , 502 5 -cceoeiieiip iy e
Complete :

1) The number that comes right after 256 is ---------
2) The number that comes right after 599 is --.-. ...

3) The number that comes right before 760is .........

4) The number that comes right before 900is - -.......

5) The number 300 comes right after .........
6) The number 210 comes right after .........
7) The number 586 comes right before .........

8) The number 300 comes right before - --......

9) The number ......... comes right before 508 .
10) The number ......... comes right before 700 .
11) The number ......... comes right after 299 .
12) The number......... comes right after 479 .




 HOMEWORK

The number that comes right after :

315 s - -+ - v ernnn.
719is «--cvcvvevnnnn
BAT S -vrvrevrenes
499 S «-ccvnvnenns
4320S - ccvcceerneen

600is -.-.--.coonnn
809 S - -covcov -
7440 v
401 iS - -vo-vvennennn

456 0S - - vveonren
528is -+ ir s
799 g oo eer e
699 S - --vrrernns
698 is ----- -

230is - ...

Q05 fg v renes

{eIN Y —

The number that comes right before :

782is i i,

405is -----

GO0 S -« vvevvrenn
200is - - creieenn
700is ----- ot nnnnn
1000S --cc-covvnennn
468is ..............
102iS --vroervrnnns
810iS - +cvcvvereenes

999ijs ......

500is ------c0cnnn

628is ----- e enn.
450is - - oo ennnn.
789is --+--cvvnnvnns
317is ----- v e enen
660is ---- - 0 ornnnn
803is ---:c et
748is ..............
B67HS ---vvcernvrens
6300S «--vcee e

0o poOoOCPODOEO 90QOOQOGQQOOOOQODO.OGQQQ@@@@@GDGOOID
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Complete :

1) 356 , 357 ,

2) 540 ,

3) 366 ,

4) 797 ,

5) 888 ,

6) 785 ,

7) 605 ,

8) 846 ,

9) 407 ,

10) 105 ,

541 ,
367 ,
798 ,
889 ,
784
604 ,
845 ,
406 ,

104 ,

358 ,........

542 , ........

368 ,........

799 ,........

890 ,........

783 ,........

603 ,........

844 ,.......

405 ,.......

103 ,........

Complete the following table :

250

251

252

254

256

259

261

264

267

270

273

278

285

289

290

291

294

295

298

302

305

306

309

310

313

317

318

322

326

327

330

331 |

335

341

342

343

--------

—{(48 /

-l - - - ==



1IN Y —
Complete : o

1) The number that comes right after 357 is ..........
2) The number that comes right after 259 is ..........
3) The number that comes right after 699 is ----. .. ...
4) The number that comes right after 99is ..........
5) The number 568 comes right after ..........

6) The number 600 comes right after ..........

7) The number 980 comes right after ..........

8) The number .......... comes right after 657 .
9) The number -......... comes right after 319.
10) The number .......... comes right after 800 .

11) The number that comes right before 271 is -- ... .....
12) The number that comes right before 200 is - ... .. ...
13) The number that comes right before 840is ..........
14) The number that comes right before 100 is .. ... .. ...
15) The number 729 comes right before ..........
16) The number 399 comes right before ..........
17) The number 527 comes right before ..........

18) The number .......... comes right before 657 .
19) The number .......... comes right before 520 .
20) The number .......... comes right before 600 .

Ol 0000000000300V 9PQCPQR0QCOPRIPSCONRPRNOSRALRRRARCQO0QEO®OGDO]
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- Choose the correct answer \

@ The number -.... comes right after 456 (455 or 456 or 457)
@ The number 500 comes right after .. ... (499 or 500 or 501)

@ 5hundreds + 6tens+4ones=-------- (564 0r 456 or 465)
@ six hundred and two (inwords )= ..... (612 or 620 or 602)
@s5+0+2=---- ( 520r 7 or 502)
- Complete the following )

@ The number that comes right after 259 is ... - .....
@ The number that comes right before 301 is --- - -----
@ . ... Tens+....Ones+....Hundreds = 829

@ 20tens=....... hundreds
.568=500+---.---+--.-..-
- Answer the following \
@ Find the resuit :
78 - 53 =---.... 68 - 65 =------

. Arrange in a descending order :
45 , 54 , 55 , 4 , 50

© 9 e e e ses § s es s eces § o es s eee § o ee s sene

@ Complete:
a)..... tens+ ..... hundreds + ..... ones = 832, and the

UMD IS read @S ..o iiiittiiii i it iiiiieaenein e

b) ....tens+..... hundreds + ..... ones= ....... , and the

number is read as : Six hundred and fifteen.

= - - - - ==

-y



All numbers that can be formed from the numbers

ONONO
B EEEE E

The greatest number is E

The smallest number is E_

Write all numbers that can be formed from the numbers:

®© 066

The greatest numberis -...-........

The smallest numberis -............

The greatest

The smallest

009000090 QO0O9O OGS ..‘.QQ......C‘QODOQQ‘Q.COOCDQCG@@E
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Complete using <,=or>

254(_)302 | 200+50+8 () 258
a87(_Ja92 | 3+80+500 () 385

785(_)783 | Shundreds () 50tens

708 Q 598 3 hundreds + 5 ones Q 350
387(_) 783 | 7tens+8hundreds (_) 780
103@ 103 2 humdreds + 6 ones Q 2+6

Complete:
a) The greatest number formed from the digits
5,8and7is ...

b) The smallest number formed from the digits
7,9 and5is ..o

c) The greatest number formed from the digits
4,0 and9is........c...........

d) The smallest number formed from the digits
5,0and8is....cc.ccccc......

e) The greatest 3-digit number formed from the
digits 5 and 8is .................

f ) The smallest 3-digit number formed from the
digits 9 and6is ...

- PN - - =

= - - - - -

—{4B /
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' HOMEWORK

Write all numbers that can be formed from the numbers:

® 00

The greatest numberis -............

The smallest numberis -.-..........

Write all numbers that can be formed from the numbers:

@@.

The greatest numberis --...........

The smallest numberis ---..-.......

Write all numbers that can be formed from the numbers:

@@@

The greatest numberis -.---.-----..

The smallest numberis ..----......

Write all numbers that can be formed from the numbers:

@.@

The greatest numberis -............

The smallest numberis --------.....

000 000000000 000000000000 00Q00Ee0GC0 OO0
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Complete using< , = or >

300+70+6 () 376
800+80+5 () 858
2+70+900 () 279
4+30+700 () 437
800+3+90 () 839
3 hundreds Q 30 tens
5 hundreds Q 50 ones

3 hundreds + 5 tens Q 305
6 hundreds + 3 ones Q 603
5 hundreds + 7 tens () 570

Complete :

1) The greatest 3-digit numberis ...

2) The greatest 3-same-digit numberis -...............

3) The greatest 3-different-digit numberis --.....---eeee

4) The smallest 3-digit numberis .o

5) The smallest 3-same-digit numberis -----eoo-o:

6) The smallest 3-different-digit numberis -..........-c.

—{48 /

-

- - - - . a=
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Complete :

1) The greatest number formed from the digits
2,5and 7is ............

2) The greatest number formed from the digits
7,2and8is............

3) The greatest number formed from the digits
7,9and 3is............

4) The greatest number formed from the digits
0,8and1is...........

5) The greatest number formed from the digits
7,0and 3is ............

6) The greatest 3-digit number formed from the
digits 6and 7is ............

7) The greatest 3-digit number formed from the
digits 2and 8is.............

8) The smallest number formed from the digits
5,3and9is............

9) The smallest number formed from the digits
9,1and5is.......... .

10) The smallest number formed from the digits
3,8and4is............

11) The smallest number formed from the digits
7,0andSis............

12) The smallest number formed from the digits
8,0and9is............

13) The smallest 3-digit number formed from the
digits 2and 9is............

14) The smallest 3-digit number formed from the

ocloopoeeceepoe ..‘....DO00.9.0.."’09@@@@@@@@@@Qlﬁ

digits 6 and 5is............
\40 \—
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-Choose the correct answer )

@ The greatest 3-digit numberis ........ (999 or 900 or 100 )
@ 452> ... (456 or 425 or 453)
@ 8tens+3hundreds=..... (830 or 803 or 380)
@ six hundred an sixty = ...... (660 or 616 or 606)
®) ........ comes right after 568 ( 567 0r 569 or 570)
- Complete the following )

@ The smallest number formed from5,0and 3is..............
@ The number that comes right after 859is ..............

. 9tens+4ones+2hundreds=..............
@ 236, 237 ,238,.......... e, e,

@ soo+8+70=..............

-Answer the following_}

@ Complete using< , =, > :
568 586 3 hundreds + 5 ones 300 + 50
892 849 500 + 70 + 6 500 + 76

. Write all numbers that can be formed from the digits 5, 3 and 7

The greatest numberis -....... The smallest numberis -.......

- Write the greatest and the smallest number formed form the
digits 5, 8 and 0.
The greatest numberis -....... The smallest numberis -.......

form the digits 9 and 3.
The greatest numberis -....... The smallest numberis -.......

- — - -
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A | 0999 J
The ascending order
From the greatest number to the smallest number
The descending order
'From the smallest number to the greatest number

Arrange each group of the following numbers in
an ascending order and in a descending order :

356 , 567 , 982 , 214 , 548

The ascendingorder: .......... peeneinen peereene . peeeaenns
The descending order:.......... e e pereeens yenrrenan
728 , 287 , 872 , 278 , 782
The ascending order: .......... geerneene geerennnn peeeeennn e,
The descending order:.......... goeeeenns foreensenns perreens pererneenn

500 , 550 , 60 , 505 , 515
The ascendingorder: .......... peeennen peernnnn, peenennns preeennns

The descending order:.......... e rirenann doernreneas peereenn. e ans

Write all numbers that can be formed from the digits
8, 7 and 3, then arrange them in an ascending order
and in a descending order :

0|0 D0 CCeC00000s000O0D000C08C0PPRRRO0ER0000000OD



- HOMEWORK ,
Arrange each group of the following numbers in |
an ascending order and in a descending order : :
564 , 645 , 456 , 654 , 546 {
The ascendingorder: .......... geeenennn g peennans L ;
The descending order........... peeeannns peeaenns peneineins e enaans ‘
|
{
215 , 674 , 548 , 384 , 678
The ascending order: .......... Seeinens goeerneens peeeeeinns pereeeens \
The descending order........... geeeeenns gerrennenn T geenanen ‘
105 , 501 , 150 , 510 , 500 l
The ascending order: .......... PR S o O — '
The descending order:.......... s — ET— R :
808 , 880 , 80 , 888 , 800 ,
The ascendingorder: .......... gerenennns — geennens geereinnn ) |
The descending order........... eeeennnns peeenans e, s |
205 , 25 , 520 , 52 , 502

The ascending order: .......... 5. i P— — e )

The descending order:.......... PO et eeeeeeens e !

— (@7
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Write all numbers that can be formed from the digits
3 ,6 and 7, then arrange them in an ascending order
and in a descending order :

Write all numbers that can be formed from the digits
7 ,2 and 4, then arrange them in an ascending order
and in a descending order :

Write all numbers that can be formed from the digits
5 ,1 and 8, then arrange them in an ascending order
and in a descending order :
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Sheet
- Choose the comect answer )
@ The smallest 3-digit numberis ............ (100 or 102 or 999 )
@ Five hundred and twenty = ............ (502 or 520 or 512)
@eotens=.......... (6 or 60 or600)
@ 452> (455 or 450 or 456 )
@ 400+50=........... (405 0r 9 or 450)

- Complete the following )

@ The smallest number formed from the digits 0,9 and 5is .........
@40 +700 +8=........

Tens + ... ones + ...... hundreds = 785

. The greatest 3 - different - digit numberis...........

@ The number that comes right after 259 is ......

- Answer the following \

@ Complete using < , = or >:
374 (] 289 5 hundreds + 9 tens 500 + 90
708 780 4 + 50 + 300 400 + 53

. Arrange the following numbers in an ascending order :

440 , 40 , 404 , 44 , 400

Theorder: ----------. g ceeenecnens g ereeeenans g ceceeinrons 9 creeesenane

‘ Write all the numbers that can be formed from the digits
5,7 and 3, then arrange them in a descending order:

The numbers:......... y e g eeenannn S i S e 3 e

Theorder: .......... § mneeeonnnn = Booereneann G anranns s eeeieiinn

- - - - - ~ = - e -

- - - —

(557

d-“‘-‘——‘.—“‘“A‘A“‘Aq‘.““



( General Exercises
l Choose the correct answer )

1) Nine hundred and thirty = ......... (930 or 938 or 983 )
2) Two hundred andtwo = ....... (220 or 212 or 202)
3) Five hundred and fifteen= (515 or 550 or 555 )
4) 3 hundreds+ 5 tens+ 4 ones=...... (453 or 543 or 354 )
5) 7+500+80=........ (758 or 587 or 578 )
6) 90+0+5 =....... (905 or 95 or 14 )

7) The value of the digit 5 in the number 567 is .........
(hundreds or 500 or 50)

8) The place - value of the digit 3 in the number 238 is .........

(Tens or hundreds or ones)
9) 900 comes right after ......... (800 or 901 or 899 )
10) ... comes right before 501 (500 or 502 or 499 )

11) The number that comes right after 399is .........
(400 or 389 or 390 )

12) The number that comes right before 790 is .........
(789 or 791 or 800 )

13) The smallest 3-digit numberis....(300 or 999 or 100 )
14) The greatest 3-digit numberis ...(300 or 999 or 100)

15) 803> ......... (510 or 499 or 504)

16) 369<......... (360 or 369 or 370)

17) The greatest 3 - digit number that formed from the
digits 5and2 is........ (520 or 552 or 52)

SloobooveoGeRPOO .I...Q.DDGQQQOQ....9'09@@@@9@@$0C}g

\88 \—



——MATE

-Complete the following )

1)

2)

3)

4)

5)

6)

7)

8)
9)

4 hundreds +3 tens +5ones=............ , and the
numberisread as ....................ccooiiiiiiiii e
9 hundreds + 7tens=............ , and the number is
FCAO @S & ... i
........ ones + ........hundreds = 803, and the number
ISread @S ...
..... tens+..... hundreds +.....ones=............, and the

number is read as : Seven hundred and sixty four.

5+0+2=.............

10)759= ............. + . + o
11) The number 365 comes right after .............

12) The number .............. comes right after 499
13) The number that comes right after 789is..............
14) The number 650 comes right before ..............

15) The number .............. comes right before 800

16) The number that comes right before 810is ..............
17)256 , 257 , 2588 ,.............. i geeeaennes e eenieieens
18)805 , 804 , 803 , ........ ey e

— (@

Ga mm M e i e A e e e A s e R e am an am Lew




19) The greatest 3-digit numberis............

20) The greatest 3 — same - digit numberis ............

21) The greatest 3 - different - digit numberis ............

22)The smallest 3-digit numberis ............

23) The smallest 3 - same - digit numberis ..........

24) The smallest 3 - different — digit numberis ...........

25) The smallest number can be formed from the digits
7,0and 3is ............

26) The greatest number can be formed from the digits
3,5andOis............

27) The greatest number can be formed from the digits
3,7an2is ............

28) The smallest number can be formed from the digits
8,9an1is............

29) The greatest 3 - digit number can be formed from
the digits 5an9is............

30) The smallest 3 -digit number can be formed from
the digits 3an7is............

31) 5hundreds=------ tens= .- .......

32) 80Tens=....... hundreds
33) 900ones=--..... hundreds

34) 900 ones=....... tens

35) 7hundreds= ....... tens = ....... ones

OoOPCECERPPCO0R00NE0DPR00000000P0PRE0RR00000000 0|



itd\ Answer the following )

1) Writhe the following numbers in words :

...................................................................................
..................................................................................

.................................................................................

.................................................................................

- am Mn @G O e M AR am A e e am o W

‘2) Write the following numbers in digits :
(2) Six hundred and seventy four: ..............
(b) Five hundred and eighteen : ...
(¢) Two hundred andtwo : .-

(d) Two hundred and twenty : -

(8) Two hundred and twentytwo : ----..........

o - - - - Fs -

e - —_— - - A — -

3) Complete :

(8) Shundreds+9tens= -

(b) 3 hundreds + 7ones ="

(c) 9tens+7ones+9 hundreds= -~
(d)------ hundreds + ......tens + ...... ones =967
(e)...... Tens +-..... hundreds + ...... ones =907
(f...... hundreds + ...... ones+ ...... tens =318

-
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4) Complete using< , = or >:

378 873 | Two hundred and fifteen [ |215
689 698 7hundreds+5ones [ 705
218 1318 3 hundreds + 6 tens . 306
546 ]549 7tens+3 hundreds [ |730
400 + 50 +3 453|200 + 80 + 6 [ | 682
40+0+2 402 7+0+4 704
500+13 [ ] 503 | 70 + 800 780

5) Arrange the following numbers in an ascending
and in a descending order :

752 , 289 , 105 , 687 , 392

The ascending order: ----------. 3 BEEETE » EEESTREE T g e

The descending order: ........... e~ s TERiE - - S e ereinns S e

6) Write all numbers that can be formed from the
digits 3, 5 and 7, then complete :

.............. 9 cerenscccacne 9§ rrrrrsrsssrasan P crcrevrrcrrsens 9 crrrrerscasaen § rersrensanne o0

The greatest numberis -

The smallest numberis -

@@@@@69909..9.09.00.0.090’9.00QOOQOQ@QQQQQQQCE
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ADDING
AND
SUBTRACTING
TWO-DIGIT NUMBERS
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Adding Addition by Regroupmg

ﬂaﬂﬁw-ﬂ'ﬂ*’ﬁrp»g—‘ré—'»b"- »»»»»»»

Total tens (2+3=5tens)

Total ones (8 +5 =13 ones )

The sum (5 tens +13 ones =63 )

28 + 35 =

(20+8) +(30+5) 50+13 = 63

Lo 1

Tens|ones Tens ones Tens|ones Tens|ones
(] - -.-
| o - — ] — "}
N "] - =
o F ! . : iii : : !! ]
. H |lm =
- g,
2tens+8ones + 3tens+5ones = Stens+13ones = 6tens+ 3ones
I(\ 8 plus 5 equals 13,
writ
2 |8 e 3 and carry one over 2,
2 becomes 3,
+3 |5 3
, Plus 3 equals 6
6 1)3 -
6 3

olecccoero000 I INNNPD20000000REPRNROPRO0R0ROR0OCED



Draw Tens sticks and Ones dots to represent each addend.
Regroup the Ones. Find the sum.

W26+47

Tens|ones Tens ones Tens|ones Tens lones

73

1] {11 = (e = U~
" K g —

46 + 37 = >
Tens|ones Tens|ones Tens |ones Tens |ones
o = =

28 + 27 = >
Tensones Tens |ones Tens jones Tens ones
5 = =

39 + |45 = 5
Tens|ones Tens|ones Tens|ones Tens|ones
o = =

- -~ -_— - - - m  _w ma - - -

. e OB s e s a s L& s = B o S A oA As M en e am M A, S am  amia  am
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Find the sum of each of the folloeing (add ) :

3 6 4 5 2 8 7 3
+ 4 9 + 3 9 +14 7 + 7

--------------------------------------------

CleRORCPEP000 2P NR00002000000¢20000000000R000p
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Draw Tens sticks and Ones dots to represent each addend.

- HOMEWORK

Regroup the Ones. Find the sum.

56 + 28 = 3
Tens|ones Tens|ones Tens|ones Tens|ones
o = =

63 + 17 = >
Tens ones Tens|ones Tens |ones Tens |ones
+ = =
49 + 25 = >
Tens|ones Tens|ones Tens|ones Tens|ones
-+ = =
51 4 39 = >
Tens|ones Tens |ones Tens ones Tens|ones
Ja = =

5 A e e, AL e e ek e Sk M s S ve e ma e B

- e em. am am e A
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73 9 = s
Tens|ones Tens |ones Tens|ones Tens|ones
27 36 = >
Tens jones Tens jones Tens |ohes Tens|ones
58 26 = 3
Tens |ones Tens|ones Tens|ones Tens|ones
17 58 = 19 = —>
Tens|ones Tens jones Tens|ones
+ =
Tens ones Tens ones

HeRrPRerer009 980 1000000200000 00sraov00s002c00k
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Find the sum of each of the folloeing ( add ) : ‘

3 7 2 3 8 6 3

+58 +47 + 4 +665 :

2 6 39 18 2 3 ;

+46 +55 +27 4+ 9 ‘
............................................ :

!

3 7 79 3 3 4 4 1

+3 9 + 9 +4 9 + 3 4 :

2 5 2 6 59 2 7 :

35 2 9 6 4 7 :

+15 +24 427 + 2 L
............................................ ;

4

:

—{®3 / i




dooonooctoonncattoonooaooooooaulntﬂbooéobss@@%

56
27
38
4 9
16
6 4

52
23
795
8 2

18
13
45
67

+ + + + + + + + + + +

+ 4+ + +

2 9
6 8
57
2 6
75

4 4
39
58

4 6
6 3
25
12

+ + + +

+ + + + + + + + + + +

38
56
29
67
13
58
39
19
49
34
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{657

-Choose the correct answer )

e comes right after 319 ( 3200r 318 or 329)
@ The value of 5 in the number 459is--.( 5 or 50 or 500)
@5+30+700=" (5370r 375 or 735)

is 10 more than 58 ( 68 or 158 or 48 )
@ The greatest 3-digit numberis-----..-. (900 0r 987 or 999)

- Complete the following )

. The place-value of the digit 8 in the number 837 is ---------..
@ 783=700+ - e

. 8 ones + 6 hundreds +4 tens =-----------

. The smallest number formed from the digits 7,8and 3 is----..----..

@ 205, 204, 203, ... N e
-Answer the following )
. Find the result :
45+37= 48 39
20+ 18 + 45= o *15 v 8

oooooooooooooooooooooooo

@ Complete using<,=and>:

785 693 8 hundreds + 5 ones 850

215 512 6+50+900 900 + 56

€ Arrange the following number in a descending order :

900 , 909 , 90 , 990, 99

Theorder: ............ P — . PR § eeeiieeeees

-— e o BT
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Adding Addition using
; ot el
z-dlgltnumber, the ten components

Components of the number 10

DI EDIEDIIDIEDCED,
E+DE+D)

Draw Tens sticks and ones dots to show each number . Find the sum:
Use the ten componens :

W 26| 4+ [a7] - [73
Tens |ones Tens|ones Tens |ones
I . E E + | I I :-: = II | --
LB
1 K
45 < 37 =
Tens | ones Tens | ones Tens | ones
4= =
38 + 46 =
Tens | ones Tens | ones Tens | ones
+ =
24 o 1 9 =
Tens | ones Tens | ones Tens | ones
+ =

Cjloe 9 090 C0O0CO0OQ@OO@ ..OQ........OOQ.....06990@@@9@380I‘D
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Solve as in the example :

W 27+35+12+ 16
27 + 35 =62 12 +16 = 28
Tens ones Tens|ones Tens|ones Tens|ones
HEIMIE S
62 +28 =90
Tens |ones Tens ones
Mz |+ (] e
15 + 27+ 38 +14
........ T o RN RS .
Tens ones Tens |ones Tens |ones Tens|ones
+ +
........ e LT
Tens jones Tens|ones
+
37 + 26+ 15+ 17
........ E TP  ETISe ST S RITITIT
Tens ones Tens|ones Tens |ones Tens|ones
+ +
T
Tens|ones Tens |ones
da
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Draw Tens sticks and ones dots to show each number . Find the sum:
Use the ten componens :

28

37

o =
Tens | ones Tens | ones Tens | ones
o+ =
49 + 36 =
Tens | ones Tens | ones Tens | ones
4 =
59 + 28 =
Tens | ones Tens | ones Tens | ones
4= =
67 o 15 =
Tens | ones Tens | ones Tens | ones
4 =
56 + 24 =
Tens | ones Tens | ones Tens | ones
+ =




—MAJIE
28

37

Tens | ones Tens | ones Tens | ones
47 24 =

Tens | ones Tens | ones Tens | ones
18 62 =

Tens | ones Tens | ones Tens | ones
58 8 =

Tens | ones Tens | ones Tens | ones
17 29 =

Tens | ones Tens:| ones Tens | ones
34 44 =

Tens | ones Tens | ones Tens | ones

Za - - e -



45+ 18 +17 + 19
........ L JETT e S—— RN TP I PP
Tens ones Tens jones Tens|ones Tens ones
+ +
Ll
Tens [ones Tens ones
+
26+ 24 +35+9
........ o o B G RPRERNEY. TR R
Tens|ones Tens|ones Tens|ones Tens ones
+ +
........ T J——
Tens|ones Tens ones
+
19+17+ 25+ 16
........ e o BB e cverecee mfmorsieees BB ovryaaas
Tens|ones Tens|ones Tens ones Tens|ones
+ +
........ L YR S
Tens{ones Tens|ones
of

GO@O@O@@@@OGO......990‘900..Q...Q@O@@@@@@@@@OIJ



8+18+17 + 29
........  ETTETTIY EERRRRRE e L e
Tens|ones Tens|ones Tens jones Tens|ones
+
........ e PRI
Tens|ones Tens|ones
+
45+ 15+18 +6
........ L SCLEEREREY—REEE TR NERETERE. IR TR
Tens|ones Tens |ones Tens [ones Tens ones
+
........ L EEEERETET —EEREREE
Tens|ones Tens ones
+
25+19+13 +24
........ N IR Rrereeee EFICTIE RIS EPPITTE
Tens|ones Tens |ones Tens|ones Tens|ones
+
........ N I RETrrE
Tens{ones Tens|ones
L &

-~ - - -— - - -— PN - - - S =9

LAY
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-Choose the correct answer )

@ Nine hundred and sixty = .......... (960 or 690 or 906 )
@ The value of 8 in the number 819is---( 8 or 80 or 800)
@800+9+60= - (896 or 869 or 698 )
@ 5hundreds + 2 ones = - (502 or 520 or 205 )
@ The smallest 3-digit number is - (100 or 102 or111 )
-Complete the following )

@ The place-value of the digit 7 in the number 276 is -

. 783 =.-........ o o

@ ones + ... tens +...._hundreds = 869

.The smallest number formed from the digits 6,8 and Qs -.........

@695, 696, 697, ... e, e,

-Answer the following )

@ Find the result :
15+ 38=------. (15+28)+(19+37)=' ....... FineisiT = denei;
28 + 45= - (17+13) + (26 +28) = -....... Forree e,

@) Complete using <,=and >:

107 701 Two hundred and sixteen 260
203 2+0+3 | 4hundreds + 8 tens 400 + 80
€ match
5 hundreds + 1ten + 7 ones 400 + 56
6 ones + 5 tens + 4 hundreds 270+ 4
200+ 70 + 4 500 +17

00@00@@@@@.0....l...O...Q.Q...QQGQ@@@@@@@ﬁ@OO_

\ 78—
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®
/7]

- (;6|°+”|> -(20+8)
Ti
enslones Tens|ones
LigE -
LN { A

17

Draw Tens sticks and Ones dots to represent each
Regroup the Ones.Subtract :

&

Tens|ones

]
]

B B
& um n

46

Tens |ones

26

Tens ones




75 19 =

Tens Ones Tens Ones Tens Ones
83 27 =

Tens Ones Tens Ones Tens Ones
60 15 —

Tens | Ones Tens | Ones Tens | Ones
45 37 —

Tens Ones Tens Ones Tens Ones

OQQO@@@@@@OO....OOOOOCOQ.‘Q..QQ.‘@@@@@@@@@GB@Ol_":




——MATE

Subtract :

6 0 9 3 4 1

8 2
-4 7

77
-59

5 5 4 2
-2 5

-4 9

6 3
-2 8

.
.

N M= T (o))
Ty N .

I | ] ]
(- w0 N e
M~ < Ty (0]

i il i I
(e 0] Tp) (o)) e
N -

I | ] ]
o N (ep] <
(o o) o ] ©
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' HOMEWORK

Draw Tens sticks and Ones dots to represent each

Regroup the Ones.Subtract :

45 28 =

Tens Ones Tens Ones Tens Ones
32 17 =

Tens | Ones Tens | Ones Tens | Ones
51 28 =

Tens | Ones Tens | Ones Tens | Ones
72 16 e

Tens Ones Tens Ones Tens Ones

0000 P00 00 00 0000300000000 00000002002000000000k
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50

26

Tens Ones Tens Ones Tens Ones
72 19 —

Tens Ones Tens Ones Tens Ones
61 28 —

Tens Ones Tens Ones Tens Ones
67 19 —

Tens Ones Tens | Ones Tens Ones
32 23 —

Tens Ones Tens Ones Tens Ones
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Subtract :

92 -66=.........

27 -19

18- 9

54-36

83-67

62 - 29

44 - 18

25- 6

17- 8

32-15

51-33

70- 6

96 - 68

62 - 29

.........
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-Choose the cormrect answer )
@ seven hundred and seven=..-....
@ 850 comes right after -.......

@ The value of 3 in the number 238 is
@ 50+200+9= ...

. The greatest 3-digit numberis ----..

(777 or 707 or 770)
( 849 or 851 or 840)
....... (3 or 30 or300)
(259 or 529 or 925)
- (100 or 987 or 999)

momplete the following )

. The place-value of the digit 9 in the number 659 is -------

@ - ones+...tens+...hundreds = 467
. The number that comes right before 700is -.........

@ 100, 200, 300,...... e,

--------

‘\nswer the following )
@ Find the resuit :

45 76

+ 29 -39

........................

------------------------

.Arrange the following numbers in an ascending order
705 , 507 , 75, 750 , 570

@) Write the greatest and the smallest
the digits 4 , 3 and 0

The greatest number: ................

The smallest number: ................

number formed from

Ol00C00000000 0090000000000 0¢00002900003000000000 L
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Read the problem for understanding

CONSIDER

Underline the important facts and

look for patterns.

e S e S S AR,

Draw a picture, if needd, to help
you solve the problem.

N

WRITE
Write an equation for the
number problem.

SOLVE

Solve the problem. Show your work.

Evaluate

Does your answer make sense?
If not, try again.

Add
Total

Plus

All together |
Inall

s e m ea e e e am o ah A e e m A s S o e A S D
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Miryam found 68 seashells on the beach.
Her sister found 27 seashells.
How many seashells did they find in all?

-------------------------------------------------------------------------------------------------

Hassan bought 23 chocolate cookies.
He also bought 39 cookies.
How many cookies does Hassan have in all?

-------------------------------------------------------------------------------------------------

Sabrine made 30 biscuits with her mom.
They ate 25 biscuits.
How many biscuits were left?

-------------------------------------------------------------------------------------------------

Samir had 72 coins but then he lost 28 of them. How
many coins did he have left?

-------------------------------------------------------------------------------------------------

Nada had LE 82, She bought a pen for LE 36 and
a book for LE 17
How many LE did she have left ?

--------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------

000000000 0C 0090000000000 00988090000000000000h
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. HOMEWORK |

1) Farah bought a toy for LE 45 and a book for LE 28 .

How much money did she pay ?

................................................................................................

2) Sama found 72 seashells on the beach. Her sister found 18
seashells. How many seashells did they find in all?

------------------------------------------------------------------------------------------------

3) Hesham has LE 17 and Hoda has LE 36 .
How much money did they have altogether ?

................................................................................................

4) Hassan bought 23 chocolate cookies. He also bought

39 cookies. How many cookies does Hassan have in all?

5) Alaa had 45 pounds. Her mother gave her 28 pounds.

How much money do you have now?

------------------------------------------------------------------------------------------------

6) Aisha went on a bug hunt. She counted 67 ants and 28

7)

crickets. How many bugs did she find in all?

------------------------------------------------------------------------------------------------

Layla has a collection of stickers. She has 54 car stickers

and 36 superhero stickers.

8)

How many stickers does Layla have all together?

...............................................................................................

Sama bought a sandwich for LE17 , atoy for LE 28 and
candies for LE 15 . How much money did she pay ?

................................................................................................

A B e S s aa S s
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9) Sabrine made 30 biscuits with her mom. They ate 25 biscuits.
How many biscuits were left?

--------------------------------------------------------------------------------------------------

10) Rashida had 41 dates. She gave 15 to her sister.
How many dates does Rashida have left?

..................................................................................................

11) Mohamed Had LE 70, He bought a T-shirt for LE 64 .
How much money were left ?

--------------------------------------------------------------------------------------------------

12) Samir had 72 coins but then he lost 28 of them.
How many coins did he have left?

..................................................................................................

14) Ramy has a 64-minute train ride. He has been on the train
for 32 minutes. How many minutes are left on his train ride ?

--------------------------------------------------------------------------------------------------

15) Nehal has LE 75 and Rana has LE 39.
Find the difference between their money.

..................................................................................................

16) There are 45 pupils in your class , 29 of the are girls .
How many boys are there in the class ?

..................................................................................................

o000 0DP00000 0090000000900 ¢00BQRPROPORQCOROQROROPOROG0O)
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17) Saimaa had LE 80, she bought bananas for LE 27 and
oranges for LE 36 .
How much money were left ?

.....................................................................................................

.....................................................................................................

18) Zeyad had LE 91, He bought a ball for LE 35 and a pen
for LE 7. How much money were left ?

.....................................................................................................

-----------------------------------------------------------------------------------------------------

19 ) The sum of money that Ahmed , Nada and Noha have is LE 83
If Ahmed has LE 36 and Nada has LE 23.
How much money do Noha have?

-----------------------------------------------------------------------------------------------------

.....................................................................................................

19 ) The sum of money that Ahmed , Nada and Noha have is LE 83
If Ahmed has LE 36 and Nada has LE 23.
How much money do Noha have?

-----------------------------------------------------------------------------------------------------

.....................................................................................................

20) There are 91 balls in a box . 25 balls are red and 39 balls are
green. and the rest are blue.
How many blue balls are there in this box ?

-----------------------------------------------------------------------------------------------------

.....................................................................................................

— - - - -— e s
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- Choose the correct answer ) |
@ The value of 3 in the number 183is ... ( 3 or 30 or 300)

T comes right after 299 (289 or 399 or 300)
@ 6hundreds +7tens=-........... (706 or 670 or 607)
@s500+20+6=. (625 or 652 or 526)
@s62< .. (560 or 650 or 559)
-Complete the following )

. (15+38)+(19+ 17): .......... R T T p—

@ 456=+6

@ 900,800, 700, .. . ey e

. The number that comes right before 500is -

@ The smallest 3 - digit number formed from the digits
9and4is -.........

-Answer the following

@ Find the result:
48 + 17= ... 42 —416 = --eneen.
29 + 36=.......... 70 = 8= connn.

®) Complete using <, =and >:
307 370 7+50+600 7 hundreds
956 959 Four hundred and twelve l 400 + 12

(&) Sarahas LE 52 and her brother Fares has LE 28.

How much money do they have altogether ?

.........................................................................................

Clo0000L000C00000008000000900880090000000000000 b
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28 +(17 )= 45

28 13
+|17 + 37
45 503->

Find the result of : 38 + 19 then complete :

@+ :f'I‘C;DQO

38 + 19 = | e -38=19
.......... + 38=57 e =19 = 38
.......... + 19 =57 57 = =19
19+ e =57 57 —--.. =38
Complete :
A5 4 oo = 08 y - I — = 32
5O 4 oo = 74 ] JE— = 48
.......... +25=52 e = 36 = 58
.......... +48=70 e = 38 =50
23 12 24 B coeew g wwe
— e S - + 36 -47 =24
48 60 14 39 90 21 38

A e e MR M o e S Be .a aa s s S e B e e B an
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" HOMEWORK

If:18 +37=55, Then:

55 - 18 = ... 55 - 37 = ...
.......... -18 =37 =37 =18
BS — .. . =18 BE - s =37
18 ... =55 37 e =55
........... +18 = 65 - 4 37= 55
If : 38 +26=64, Then:
64 - 26= ... 64 -38= ...
.......... - 26 = 38 v = 38 = 26
(27 p— = 26 64 — v = 38
26 4 oo = 64 38 4. =64
........... + 26=64 e 4 38 = 64
If :35 +58=93, Then:
93 -35 = ... 03 -58= ...
.......... - 356=58 e = B8 = 35
03 —........... =35 93 ... =58
35 4 .o = 93 58 4 .coonn.. =03
........... + 35 =93 e 0 58 =293

o000 0R000C0 050 REEPD000C0P0000BQR0C020000 P00 00
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Complete :

28 + oioonne =72 70 —isinns =39

16 + - = 84 61 —.......... =46 (

B3 + oo = 97 75 ... =58 !

i, iy A Npem— = 54 43 ... =17 |

.......... +12= 38 . =854 =17 i

---------- +26= 50 e =38 =19 :

.......... +54=96 . = 32 =48 '

---------- +24=30 . =53 =13 :

25 37 48 47 56 |

. O o —-erieens S - ‘

59 72 28 19 27 ‘

{

{

+ 24 + 47 - 21 - 37 -15 4

60 70 15 46 59 I

31 62 ................ ;

T o et +12 - 46 :

57 14 50 39 :

{

{

—(eR / -
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- Choose the correct answer \

@ 50nes +3hundreds = ... (503 or 305 or 350)
@ The value of 0 in the number 509is....( 0 or 10 or100)
@ Six hundred and six =" (660 or 666 or 606)
@ 70+200+9= - (729 or 279 or 927)
@ 301> . (399 or 299 or 400 )
- Complete the following )

. 45 peeeienes = 85

@ 369 = +300

@ s5-....... =27

. The number that comes right after 399 s ...........
. The greatest 3 — same - digit numberis .-.........

- Answer the following \

. Find the result :
1 6 & 39= ........ 71 -— 29 Y ——
47 + 18=-....... 87— 9 =........

. Complete using <,=and >:
55+ 20 47 + 28 75 + 600 | 6 hundreds
95 - 36 72 - 17 52 tens 502

Eman had LE 82, She bought a T-shirt for LE 38

Find the money left with Eman .

---------------------------------------------------------------------------------------------------

Plo0220P0 0000 0CREeERR000009P000ROPC00CR00R00 00
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Vertex

Triangle

Square 4 equal 4
Rectangle 4 4
(2 short, 2 long )
] 4
Trapezoid 2 parallel , A
2 not parallel

Rhombus 4 equal q

Pentagon 5 5
Hexagon 6 6
Circle 0 0

oV P00 0000909800 0000200000909200000000000000000b
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Match each shape to its name :

WAN

N

Triangle
Rhombus 5

S
Hexagon @
Trapezoid
Square <:>
Pentagon

Rectangle
circle

Color the quadrilateral shapes ( 4 sides )

O

Complete
a) The triangle has ........... sides c) the hexagon has ........ sides
b) The square has .......... vertices d) The pentagon has ........ vertices

— Draw a shape with 4 sides

— — Draw a shape with 3 vertices —

— Draw a shape with 0 sides

— —Draw a shape with 5 vertices —

—{©5 /



long
- short
.. parallel ,
- not parallel

9000000002009 0080000000000C0P008OCLOOB03C20CO0
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Write the name of each shape

® A @

------------------------

------------------------

Match each shape to its name :

i i Triangle
Rhombus

Hexagon

i Trapezoid
Square

Pentagon

Q Rectangle
circle

Write the number of sides of each shape

N O

<
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Complete
a) The triangle has ....... sides and ....... vertices.
b) e, and .................. are quadrilaterals with 4 eaual sides.
c) The rectangle has ....... sides ..... of them are longe and ...... are short
d) The ....ccooveeeerreennns has 4 sides , 2 sides are parllel and 2 are not parallel .
e) The ....ccccuuereeeennnns has 5 sides and 5 vertices .
f)The ..ccuereeenennnnne. has 6 sides.
g)The ...cccovcurrnannnee. has no sides.
h) All sides of the square are ....................... in length.

— Draw a shape with 3 sides —

— Draw a shape with 4 sides —

— Draw a shape with 0 sides —

— Draw a shape with 6 sides —

— Draw a shape with 3 vertices —

— Draw a shape with 5 vertices —

— Draw a shape with 4 vertices —

— Draw a shape with 5 vertices —

—_— M aE mm e aa M e S e e aa e

. e AR e -

—{100/
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-Choose the comrect answer )
@ Thetriangle has ....... sides (3 or 4 or 5)
@ The rectangle has - sides (3 or 4 or 5)
@ The value of 7 in the number 317is ... ( 7 or 70 or 700)
@80+9+600= . (896 or 869 or 689)
@3000nes=-..... tens ( 3 or 30 or 300)
momplete the following )
@The o has 5 sides and 5 vertices
@ 7ones+ 4hundreds + 3 tens = oo
@The oo has 6 sides and the .............. has no sides
.The smallest 3 - different — digit numberis ..--.------
® AN oo are quadrilaterals shape with
4 sides each .
- Answer the following \
.Complete using <,=and>:
785 758 The smallest 3-digit number 102
799 80 tens 200 + 70 + 8 278

.Arrange the following numbers in an ascending order :
70,770 , 7,77, 700

© B2 & A

------------------------------------------------------------------------------------------------




centimeter

....... centimeter




Measure the side length using the ruler :

—Example :

T INY—

—Example :

5cm

.........

---------

2R resr e 0320 e 2000090090000 00000000 R0 PR200D
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HOMEWORK |

Use the ruler to measur e the length of each object in cetimeter :

.'-n_-. 5] :jé” ;’. 3_,&

g T a5 Wl ST

2

....... ce“ntimeter

e il

g ﬁt‘é;u }
g (@) _ 9

s

. il o N0 L

....... centimeter

i

ter

=

....... centime

e . am am A e

Ak M A am ama A B L s

-

A . s

mala S s ten e & L



z %

.
.
.
.
.

Measure the side length using the ruler :

000000 C0000000000CROC000000000000000000G60 GO0

... CIMN

N

P 1
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- Choose the correct answer \

@ Thesquarehas ........ sides (3 or 4 or 5 )
@ 569 comes right before - (579 or 560 or 570 )
@ The value of 0 in the number 710is...( 0 or 10 or100)
@ 5 hundreds + 5ones = (555 or 505 or 550)
@ 5 hundreds =------- tens (5 or 50 or 500)
- Complete the following )

@the ... has no sides and no vertices

.45 T R— = 82

. .......... -23 = 68

.The rectangle has ....... sides, ....... sides of them are long
and ...... sides of them are short

- Answer the following )
@ Find the result:

47 29 62 80
+ 9 +38 -19 -46

....................................

B Arrange the following numbers in an ascending order :
909 , 90, 900, 990, 99
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| 3"'“1‘“3.0“0' ‘ 3D shapes
.“‘.‘_‘*“‘"".'h_'a’ri-_.”“”.’.”_”_””.q SOIids
(" Ed )
ge Face Edge \ Face
9 Vertex Base Vertex )
~ 2 T
Name Shape ( Solid ) Faces Edges| Vertices
Square- 5
base i 8 5
id # | 1 square face
pyrami 4 triangular faces
. 3
Cylinder 0 0
2 circular faces
1 curved face
1
Sphere 0 0
curved face
6
12 8
Cube Squared faces
Rectangular 6
rism 12 8
P Rectangular
faces
\_ J

odjleoecececcooccceseercsooooserneseeenconeooo0e@coofp
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Match each solid to its name:

Square-based-{| Rectangular

Cylinder || Sphere pyramid prism

cube

Complete :

a) The cube has ...... faces and the shape of each face is ............

c¢) The number of edges of cube is ..........

d) The rectangular priém has ...... edges, ....... vertices and

e) The square-based pyramid has ...... edges, ....... vertices and

e faces, ...... faceisa.................. and ..... face triangles
) has no edges , no vertices and 1 curved face.

[+ ) I has no edges , no vertices and 1 curved face.

and 2 circular faces .

—{108/

‘Jﬂ-—“"‘_-A‘_‘---‘-A



 HOMEWORK

Compilete the table :

A INY—

(‘

Name Solid Faces Edges \bﬂim\
............................ square face o 5
............................ triangular faces
..................... 0 0
..................... 0 0
..................... 12 8

Rectangular 12 8
faces
J/

Cylinder || Sphere

Square-based-|| Rectangular
pyramid prism

o PP 000000 0P P00 PCEQRCC0000R00000CRQOR0QQCQOQOORRRCOBOL
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Write the name of each shape

Triangle
Rhombus
Hexagon
Trapezoid

Square
Pentagon
Rectangle

circle
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Complete :
a) The cube has ...... faces and the shape of each face is ............

b) The numbe of vertices of the cube is ...........

c) The number of edges of cube is ..........

e) The square-based pyramid has ...... edges, ....... vertices and
...... faces,......faceis a ................ and ..... faces are triangles

| 1) I has no edges , no vertices and 1 curved face.

(¢ ) IO has no edges , no vertices and 1 curved face.

and 2 circular faces .

Complete :
a) The opposite solid is called ...........

it has ...... edges, ....... vertices and

and the shape of each face is ............

b) The opposite solid is called ...........
it has ...... edges, ....... vertices and
and the shape of each face is

c) The opposite solid is called ...........

it has ...... edges, ....... vertices and
...... faceisa.................. and

d) The opposite solid is called ........... @D
it has ...... edges, ....... vertices and ...... faces ,
...... faceisa..................and ..... faces are ............

oloceeocooocooeooeocoscsococoooeoneeoocccco@oene@oeo®ooh
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.ﬁ;Choose the correct answer )

@ The number of edges of cube = ........ (6 or 8 or12)
@ Thehexagonhas ... sides ( 650r 6 or 0)
@ The place-value of the digit 4 in the number 248 is -.......

( hundreds or tens or ones )
@ 7 hundreds + 7tens = - (707 or 770 or 777)

@ The smallest 3 - digit numberis - (100 or 999 or 102)

- Complete the following )

@ Five hundred and fifty (in digits) -
@ The number that comes right after 289 is -+

. 78 =......... = 56
@a3 + = 70
® has no edges , no vertices and 1 curved face.

-Answer the following )

. Arrange the following numbers in a descending order :
204 , 420 , 240 , 402 , 224

- -

;Midh 2 & & A & o e & s B & o e e s A oA
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Kilogram
EB "

£

about B about

5 grams 5 kilograms
balance 5gm 5 kg

Decide which would be the best unit of measurement for weighing each
object. Circie your answer.

grams (gm) grams (gm)
kilograms (kg) | kilograms (kg)
grams (gm) grams (gm)
ILkllograms (kg) kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) || kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) kilograms (kg)
Bird Rabbit Dog Elephant
Write the help of the figure answer using (_lighter ) or ( heavier
a) The birdis «----oooooeieeiinnenns than the rabbit .
b) Thedogis - oo than the elephant.
c) The rabbitis...............oooeeeenn. than the bird .
d) The elephantis.......................... than the dog.

oclopepecocoocooeoseeoete000dooo®coeeeeeR0@d200000900eb
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Read the word problem , Write a number sentence,
and solve :

1) Marwa has 1 dog that weighs 15 kilogram
and 1 cat that weighs 7 kilogram.
How much do both of marwa’s pets weigh together ?

------------------------------------------

2) Fatima has a bicycle weighs 18 kilograms.
Her brother has a tricycle that wighs 9 kilograms.
How much do the bikes weigh all together ?

..........................................

3) Yara bought a bag of flour that weighed 20 kilograms.

She made cookies and used 5 kilograms of sugar.
How many grams of flour does Yara have left ?

------------------------------------------

4) Basma has two rabbits , one of them weighed

4 kilograms and the other rabbit weighed 3 kilograms.

Her brother has two rabbits , One of them weighed

5 kilograms and the other rabbit weighed 4 kilograms.

How many kilograms do the all rabbits weighed ?

---------------------------------------------------

—{108 -

5) Fares has a box of biscuits that weighs 83 grams .
He eats 27 grams of the biscuits .
How many grams of biscuits are left in the box ?

..........................................

Sid B & A& A & & & A &a B e e e s s m o - . om
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. HOMEWORK

Decide which would be the best unit of measurement for weighing each

object. Circle your answer.
grams (gm) grams (gm)
Q_ o
kilograms (kg) O T [kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) kilograms (kg)
grams (gm) ) grams (gm)
kilograms (kg) @ || kilograms (kg)
grams (gm) ‘-m grams (gm)
kilograms (kg) ' _1'1 kilograms (kg)
grams (gm) grams (gm)
kilograms (kg) kilograms (kg)

BD@DG@@@@@QQOiOOQOOOQQOQOQ.Q'QOQQQﬁﬂ@@@@@@@@@b
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Bird Rabbit  Dog Elephant
rite the help of the figure answer using (_lighter ) or ( heavier

a) Thebird is .......ccccceeveveeeeeeeeeennnnnn.. than the rabbit,
b) The bird is ........cccocvevvreeeeeenn... than the dog.
c) Thebird is .......cccovevreeveeereerennnnn... than the elephant.
d) Therabbitis ...........ccevreeeerereennnnnn than the bird
e) The rabbitis ...............cccoeeevvvennnn. than the dog
f) The rabbitis ............ccceevereeeeneennn than the elephant.
g) The dogis .......ccceveecmenn. than the bird
h) The dogis ..............ccuueeu...........;.. than the rabbit.
1) The dogis .....ccoeeenneeeeeeeeeeeeeeeen, than the elephant.
j) The elephant.is .........cocooverveveeeeee . than the bird
k) The elephant is ..........ccceeeeveeeeeennnn.. than the rabbit.
1) The elephant.is ........cccoeovevvereereeenn. than the dog.

Read the word problem , Write a number sentence,
and solve :

1) Marwa has 1 dog that weighs 15 kilogram
and 1 cat that weighs 7 kilogram.
How much do both of marwa’s pets weigh together ?

2) Reham two toy balls each weight 48 grams .
How much do Reham'’s toy balls weigh together ?

..........................................

J....--‘-‘---n“-‘-.‘_“ . -
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3) Fatima has a bicycle weighs 18 kilograms.
Her brother has a tricycle that wighs 9 kilograms.
How much do the bikes weigh all together ?

+
n

..........................................

4) Yara bought a bag of flour that weighed 20 kilograms.
She made cookies and used 5 kilograms of sugar.
How many grams of flour does Yara have left ?

5) The weigh of Eman is 48 kilograms and the weigh of
Remas is 52 kilograms .
Find the difference between their weighs .

6) Basma has two rabbits , one of them weighed
4 kilograms and the other rabbit weighed 3 kilograms.
Her brother has two rabbits , One of them weighed
5 kilograms and the other rabbit weighed 4 kilograms.
How many kilograms do the all rabbits weighed ?

.........................................................

7) A grocer has 82 kilograms of sugar,
He sold 56 kilograms of the sugar.
How many kilograms were left ?

..........................................

8) Fares has a box of biscuits that weighs 83 grams .
He eats 27 grams of the biscuits .
How many grams of biscuits are left in the box ?

..........................................

o0 000000 PR 0000000009002 090009600000P0000RQGOOM
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- Choose the correct answer )

@ The number of sides of pentagon=.....( 4 or 5§ or 6 )
@ The value of 4 in the number 438is..... ( 4 or 40 or 400)
@ The greatest 3 - digit numberis -........ (100 or 999 or102)
@ 70tens = hundreds ( 7 or 70 or 700)
@ Nine hundred and twelve =........... (912 0r 920 or 921)
- Complete the following )
@603 (INWOrds )= .o.oooviioeeee e
. The number that comes right before 600 is -........
@ 9 hundreds +5tens + 7ones = ----....
@ The smallest number formed from 5 s4and 3is .........
. The name of the solid that has 2 circular facesis....---.........
‘\nswer the following
@ Complete using <, =or>:
405 504 Two hundred and twenty 212
800 80 tens 70+ 500+8 758

. Arrange the following numbers in a descending order :
756 , 592 , 216 , 890 , 654

Remas is 49 kilograms .
Find the sum of their weighs

........................................................................

&) The weigh of Eman is 37 kilograms and the weigh of

all A & S A A s e e A am e s o A s B e m e e e A - -



The half of the day
in the morning time
from 12 midnight
until 12 noon

AM / PM

Mooy

NIDNGHT
L4
HOX

12'00 24:00

I«-Am—vk—m—sl

The half of the day
in the afternoon and
evening time
from 12 noon
until 12 midnight

Minutes hand
Sl O i

\

Hours hand
el ) Jis
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Decide the activity happens in the a.m. or p.m.
Circle the answer :

- - — = P - - _— -

amll A o am . . s



Write the Time

Draw the hands of the clock:

10 O'clock
\_ _J

\ past11 \ Ppast8

000 000020000 00000 PDODOCGQR000ORRPRORRPRQROOQRORROO)
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HOMEWORK

Decide the activity happens in the a.m. or p.m.

Circle the answer :

Eat breakfast

art class\

Arriv school

1

a.m. or p.m.

d‘-““‘-‘-‘-A_“AAAA-“_‘-hﬂ._..



Write the Time

o0 002000 0000080000320 0020000000890000200000090D
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Draw the hands of the clock:

\_ to 6 Y,

Co 'clck)
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- Choose the correct answer \

@ The smallest 3 -digit numberis -........ (100 or 999 0r102 )
@ 7 ones + 5tens + 6 hundreds = -+ (756 or 657 or 576 )
@ 799 80 tens (< or =or >)
@ Thecubehas - faces ( 8 or 12 0r 6 )
g 35 = 60 (25 or 95 or 35)
- Complete the following )

@ The place-value of the digit 0 in the number 309 s .........
@ Five hundred and sixteen (in digits) =

@ The number that comes right after 399 is .........
@ The greatest number formed from4,6and O is.........

@ Thetriangle has ....... sidesand ....... vertices.
- Answer the following )
@ Find the result :
45 - 28 =.......... 70 - 6 = ------on.
27 4+ 43 =-oooeene 65 + 8§ =

R Y
B et

uarter

..................................................................................................

e eeee000000C000032020009800008000000000000000p
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Hours Minutes
el | sl &Gl
Digiial clock )
O'clock
Quarter | Quarter

past
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Write the Time

---------------------------------

Quarter

9 past 2 y

\

3 O'clock

r =

Quarter

\. J

\to1 )




Complete :
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Write the Time

.

0000020000000 00000000003060082800600000Q00|0
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Write the Time

Quarter

. Past 6

B

Quarter
to10

\

Quarter

past 2

-

Bl

half

past 6

r
\_

half

N past 3 )

Quarter

past 8 )

i

Quarter
to 3

e
G

Quarter

Quarter

to 4

r
.

4 past 4 ;

Quarter

Q past 3 y

Quarter

to 7

\_

o an S amm am e A B i am e e S M Sm m aB mam A am L ae . &m a -
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Complete :
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-Choose the correct answer \

@ The greatest 3-digit number formed from the digits
3and4is........... (430 0r 403 or 443)
@ The number that comes right after 560 is -.--..-....
(561 or 660 or 570)

@38 hundreds = ... tens (8000r 80 or 8 )
@ The value of the digit 3in 439 is...... (3000r 30 or 3 )
@ The cylinder has........ vertices (0 or 1 or 8)
- Complete the following )
. The number that comes right before 500 is ...........
@ Thesquarehas........ sides and........ vertices.
@s6+ - =83
@275, 274, 273, ... s e,
. The oo, is a 2D-shape that has only 3 sides.
-Answer the following )
@ Find the resuit :
45 + 29=---- 72-36=" 156-8= -
63+ 27=-.. 500+30+9=-.......
.Complete using : <, = or >:
45+36 90-9 2+ 50 + 300 253
72-56 14+28 Nine hundred 9 tens

€] Arrange in a descending order :
600, 66 , 660 , 60 , 606

_—— = - — =
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................................................................................................

Sama bought a sandwich for LE 17 , a toy for LE 28 and
candies for LE 15 . How much money did she pay ?

............................................................................................
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( General Exercises
-Complete the following )

(1) 5hundreds + 7 tens + 4 ones =

(2) 6tens+ 7 ones + 4 hundreds =

(3) 2tens + 8 hundreds =

(4) 9 hundreds + 7 ones = --eeee-

(5) - hundreds + - tens + - ones = 478

(6) ........... tens oo hundreds + ....O0nes = 318

(7) oo hundreds +---ones + ---tens = 803

(8) Nine hundred and seventy two (in digits ) : e

(9) Seven hundred and nine (in digits ) : -

(10) Five hundred and fifteen (in digits ) : -

(11) Four hundred and seventy (in digits ) : -

(12) 569 ( in words ) O OSSOSO DU T

(13) BT (INWOIAS ) i sssssssons

(14) BO07 (INWOEAS ) 1o

(15) 690 ( in words ) VPSRN

(16) 6 hundreds, 7tensand3ones =.......... and the
NUMDEE IS FEAM QS 2 oottt resseseeseessessessssssssen s emsenns

(17) 3 hundreds and 4 ones =" and the number is
FEAM QS © -ttt e anas et tststess seeeetesseeseensasaneen

.........................................................................................................................................
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(18) - hundreds + ... tens + ....ones = 598, and the

-----------------------------------------------------------------------------------------------------------------------------------------

(19) ... hundreds + ....tens + ....ones = , and the
number is read as : Seven hundred and thirty four .

(20) The place-value of the digit 6 in 768 is ...............

(21) The place-value of the digit4in 394 is ...

(22) The value of the digit0in 308 is ....................

(23) The value of the digit 9 in 932 is ---ecorevucenn

(24)600 + 50 + 2 = e

(25) 20 + 700 + 8 = -

(26) 8 + 600 = oo

(27) 500 + 7O = ovrrrriserie

(28) 7BQ =--rvrvrneenee g e g crerreeerenes

(29) 408 =--rerereeee U

(30) 530 =-werrereerereen PR

(31) The number that comes right after 403 is ................ :
(32) The number that comes right after 299 is - :

(35) oo comes right after 759
(1) J— comes right after 600
(37) comes right before 800
(1 ) R comes right before 690
(39) 455 comes right after ..................
(40) 700 comes right after -
(41) 380 comes nght after e

dleccce000000 0000000000060 0ORROROGCEORROIOOOROROOCREORORGCOCOBGOD



(42) The greatest 3 - digit number is ...............

(43) The smallest 3 - digit number is ...

(44) The greatest 3 - different - digit number is ..............

(49) The smallest 3 — different — digit number is ...

(46) The greatest 3 — same - digit numberis.........

(47) The smallest 3 — same - digit number is ................

(48) The greatest number formed from the digits :
4,2 and6is o

(49) The greatest number formed from the digits :
7.8 and 0 is e

(50) The smallest number formed from the digits :
9,5 and3is ...

(51) The smallest number formed from the digits :
7,0 and3is ..............

(52) The greatest 3 - digit number formed from the
digits : 8 and 3is ...

(53) The smallest 3 - digit number formed from the
digits : 4 and 9is ...

(54) 564 , 565 , 566 , 567 , .. ... .. R 3 connnreseses
(55) 100 , 200 , 300 , 400, . .. . 3 coeenerrenins 5 corremenene .
(56) 705 , 704 , 703 , 702, ... 5 rerernreeeens U :
(57) 900 , 800 , 700 , 600 , ... 3 corennreeeins N

(58) If 35+28 =63, then 63 -28=--and 63 — 35 =

(59) If 45+38=283, then----—45=38 and --.-38 =45
(60) 24 + -orreene = 82 62) 49 —........= 24

(61) s + 27 = 52 () J— +19 = 42

— {188/
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(64) The triangle has ... sides and............ vertices .
(65) The square has .......... equal sides and ............ vertices
(66) The rectangle is a quadrilateral that has........ sides

.......... short sides and ......long sides , and ..... vertices
(67) The rhombus has ... equal sides and ........ vertices

(68) The - -vveoereererrenrrererennns has 5 sides .

(69) The oo has 6 sides .

(70) The oo has no sides and no vertices .

(71) The square - base pyramid has ... faces and
................ edges

("2) The .. has 2 circular faces .

(73) The e, has 6 squared faces .

(74) The rectangular prismhas ........... rectangular faces
and ... edges and ............. vertices.

-Choose the correct answer \

(1) Nine hundred sixty five=............ ( 965 or 569 or 659 )
(2) Two hundred and seventeen=----. ( 270 or 207 or 217 )
(3) Three hundred and three=------- (330 or 333 or 303 )
(4) 7hundred+2tens+4ones=------ ( 724 or 427 or 274 )
(5) 5ones+6tens +8hundreds=:----( 568 or 865 or 586 )
(6) 2hundreds+8tens=-........ ( 280 or 208 or 218 )
(7) 8hundreds+7ones=--....... (870 or 817 or 807 )
(8) 900 +60+2= - ( 926 or 962 or 369 )
(9) 8+70+100= (871 or 178 or 718 )
(10) 700 + 60 = - ( 706 or 607 or 760 )

SO0 000000R00 CEEEOECOR00TOeIRDEEORRNQROIEOCGOOORCOROOROO
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(11) 500+3=........... ( or 53 or 503 )
(12) 50+ 0+3=........... ( or 53 or 503 )
(13) 5+0+3= ........... ( or 53 or 503 )

(14) The value of the digit 5in 285is . .... (

or 50 or 500 )

(15)

N[ O || 0 ®

The value of the digit 7in 738 is . ... ( or 70 or 700 )

(16)

The value of the digit0in 906is-----( 0 or 10 or 100 )

(17)

The place - value of the digit 0 in the number 780is.........
( hundreds o tens or ones )

(18)

The place - value of the digit 3 in the number 367is.........
( hundreds or tens or ones )

(19)

The place - value of the digit 4 in the number 146 is.........
( hundreds or tens or ones )

(20) .

....... comes right after 259 ( 265 or 260 or 258 )

(21) -

------- comes right before 700 ( 699 or 701 or 600 )

(22)

800 comes right after . ....... ( 801 or 900 or 799 )

(23)

479 comes right before - --..... ( 480 or 478 or 500 )

(24)

The greatest 3-digit numberis . -..... ( 900 or 999 or 100 )

(25)

The smallest 3-digit numberis - -..... ( 100 or 102 or 111 )

(26)

The greatest number formed from the digits 5, 6 and O
(I PPRTTRYPS ( 560 or 605 or 650 )

(27)

The greatest 3-digit number formed from 5 and 2is ---- -
( 520 or 552 or 522 )

(28)

The smallest number formed from the digits 7, 8 and O
NPT ( 708 or 780 or 870 )

-_— = = -_ =

-
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(29) The greatest 3-digit number formed from3 and 6is ---------
( 630 or 663 or 633 )

(30) 50 tens=-------- hundreds ( 5 or 50 or 500 )
(31) 70tens = -------- hundreds ( 7 or 70 or 700 )
(32) 8 hundreds =------- tens ( 8 or 80 or 800 )
(33) 6 hundreds =------- ones ( 6 or 60 or 600 )
(34) 400 ones = --------- hundreds ( 4 or 40 or 400 )
(35) 200 ones = --------- tens ( 2 or 20 or 200 )
(36) 30tens=--------. ( 3 or 30 or 300 )
(37) 9hundreds=-........ ( 9 or 90 or 900 )
(38) 575<-------- ( 574 or 575 or 576 )
(39) 200< ......... ( 186 or 201 or 199 )
(40) 45+ - =71 ( 26 or 36 or 24 )
(41) -oeevvee - 38 =12 ( 40 or 26 or 50 )
(42) 46 — ......... = 34 ( 12 or 80 or 18 )
(43) Thetriangle has ....... sides . ( 3 or 4 or 5 )
(44) Thesquarehas ....... vertices. ( 3 or 4 or 5 )
(45) The trapezoid has -...... sides . ( 3 or 4 or 5 )
(46) Therhombushas ....... vertices. ( 4 or 5 or 6 )
(47) The pentagon has ....... sides . ( 65 or 6 or 7 )
(48) The hexagonhas ..... .. vertices. ( 4 or 5§ or 6 )
(49) The square - base pyramid (6 or 5 or 8 )
has ....... edges .
(50) The cylinderhas ....... faces. (1 or 2 or 3 )

QIO 00000 CRRC 0000000000000 000CONSTOPCOOQPORCPOPRRROPOPOO®
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- Answer the following )

Write the number

a0
aoo
ooo

Hundreds + Tens + Ones

amll e L e A e o = e




Write the following Table :

The place The number
Hundreds| Tens |Ones | In digit Inw
5 7 2 |
7 1ol _ | —
............................... 1 7 9 E e e e s et ettt tete ettt ee et tre st ae b et esrieababeseennnanntannnny
264

...........................................................................

........

...........

...............

...................

Nine hundred and sixty two

...........

...............

Two hundred and fifty

Write the value and the place - value of the encircled digit :

The number

The value The place - value

OLK:

2(8)7

2 3(8)

Complete using <, =or >

254

487

708

387
103

)

SEm—

302

492

598

783
103

"

200+50+8 258

3 + 80+ 500 385

————

3 hundreds + 5 ones 350

7 tens + 8 hundreds 780

2 humdreds + 6 ones 2+0 +6

ole00C0000000 0000080000000 99098080900900CQ0R000RM

\48)—

1IN Y —




——M AR+

Write all numbers that can be formed from the numbers:

® @

The greatest numberis -..-.........

The smallest numberis -............
The ascending order: .......... G eneerens yerenannn s S e ennsens peenrnns
The descending order:.......... TR grieienerin peneeinns RRR— P

Arrange each group of the following numbers in
an ascending order and in a descending order :

356 , 567 , 982 , 214 , 548
The ascendingorder: .......... peeenen oot geeeennn geenenens

The descending order:.......... N peereenns et et

500 , 550 , 50 , 505 , 515

The ascending order: .......... peeeannn preeeenns pemnens N

The descending order:.......... geerenens geeeane peemeaens e
Find i 26 59 2 7
3 7 2 3 8 6 29 6 4 7

................................................................

--------------------------------------------------




52
23
75
8 2

36
13

+ 4+ 4+ +

+

+

39
5 8
5
8

4 6
6 3

+

nnnnnnnnn

ccccccccc

Sama found 72 seashells on the beach. Her sister found 18
seashells. How many seashells did they find in all?

............................................................................................

Nehal has LE 75 and Rana has LE 39.
Find the difference between their money.

---------------------------------------------------------------------------------------------

The sum of money that Ahmed , Nada and Noha have is LE 83
If Ahmed has LE 36 and Nada has LE 23.
How much money do Noha have?

...............................................................................................

-----------------------------------------------------------------------------------------------

There are 91 balls in a box . 25 balls are red and 39 balls are

green. and the rest are blue.

How many blue balls are there in this box ?

..............................................................................................

................................................................................................
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If :38 +26=64, Then:

64 _26= ... 64 —38= ...
.......... - 26 = 38 e = 38 = 20
64 - e seessies - 26 64 - cctrrasieas — 38
20 + - = 64 38 +...co... =064 ,
........... o+ 26: 64 +38= 64
Complete |
(1) The triangle has ....... sidesand ....... vertices. )
(2) crerrernersareanans and .................. are quadrilaterals with 4 eaual sides. {
(3)The rectangle has ....... sides ..... of them are longe and ...... are short
(4) The ...cccoeeeveeneens has 4 sides , 2 sides are parllel and 2 are not parallel . |
[
(5)The ..cceerveeereeeenenns has 5 sides and 5 vertices . -
(GO 1T Y has 6 sides. i
(7) The ... has no sides. '
(8) All sides of the square are ....................... in length. ‘
(9) The cube has ...... faces and the shape of each face is ............ '
(10) The numbe of vertices of the cube is ...........
(11) The number of edges of cube is .......... :
(12) The rectangular prism has ...... edges, ....... vertices and (
...... faces , each face iS @ .....ccoceveeeeeremennnn. 1
(13) The square-based pyramid has ...... edges, ....... vertices and ‘
........ faces, .....faceisa.................and..... faces are triangles f
(14) -+ vverenrsnnsnnmennnnnens has no edges , no vertices and 1 curved face. :
{
—{148/ ‘
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Write the name of each shape

CloeegoecOhbeoCOOeveRRCesragoEboe0

Measure the side length using the ruler:

o0 00QOC0DOQ T O S|E



——MARIE-

Decide which would be the best unit of measurement for weighing each

object. Circle your answer.
grams (gm) Q grams (gm)
()
I[ kilograms (kg) O s S iLkiIograms (k)
grams (gm) ) grams (gm)
[killograms (kg) “ II kilograms (kg)
grams (gm) grams (gm)
Hkllograms (kg ' ll kilograms (kg)
grams (gm) grams (gm)
[kilograms (kg) I[EIIograms (k)

Marwa has 1 dog that weighs 15 kilogram
and 1 cat that weighs 7 kilogram.
How much do both of marwa’s pets weigh together ?

------------------------------------------

Yara bought a bag of flour that weighed 20 kilograms.
She made cookies and used 5 kilograms of sugar.
How many grams of flour does Yara have left ?

..........................................

¥-| am. or p.m. ,—/ \—&l.m. or p.m.)—)

—{138/
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Look at the animals on a farm pictograph then answer :

Animals on a Farm
Key = Each animal picture represents 5 animals

e
¥ ¥ Y| ¥
W %

Cows

Goats

Chickens !
Sheep %

= | g

TYPES OF Cows Goats Chickens Sheep
ANIMALS

NUMBER OF
ANIMALS

Animals on a Farm

35
30
25,
20
15
10

NUMBER OF ANIMALS

TYPES OF ANIMALS

Cows Goats  Chickens  Sheep
How many cows are there on the farm 7 .....................
How many goats and chickens on the farm 7 .....................
What is the most type of animals on the farm? .....................

What is the least type of animals on the farm? .....................

- - - e =

—{180/
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(1) Six hundred and six=............ ( 606 or 660 or 616 )
(2) The value of the digit3in 736 is ......... ( 83 or 30 or 300 )
(3) 5+700+30=........... ( 573 or 753 or 735 )
(4) 72~ ......... = 36 ( 36 or 44 or 108 )
(5) The greatest 3-digit numberis ......... ( 900 or 100 or 999 )

Second : Complete the following :

(1) The place-value of the digit 0 in 708 is ............

(2) The number that comes right after 789is ............

(3) 7Thundreds+50nes+6tens=............

(4) The greatest number formed from8,4 and6is............

(5) Thecubehas ............ edges.

Third : Answer the following :

(1) Find the result :

57 38 95 6 4 70
+29 +38 - 47 -38 - 9
(2) Complete using (<, = or > ):
456 654 5 hundreds + 7 tens 500+ 7
320 32 tens 35 +28 53

(3) Rodina has LE 45 and Sama has LE 29.

How much money do they have together ?

.................................................................................

DIeCLCO00COVPCresled0C0R000POQRGRRRDRDROCC 0RO COCOk
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First : Choose the correct answer:

(1) The smallest 3-digit numberis........... ( 999 or 102 or 100 )
(2) The number comes after 709is ......... ( 710 or 708 or 609 )
(3) 7ones +3 hundreds=............. ( 730 or 307 or 370 )
(4) 49+ ........ = 60 ( 11 or 21 or 109 )
(5) The number of faces of cubeiis ......... ( 12 or 6 or 8 )

= — — = =

Second : Complete the following :
(1) The value of the digit 8 in the number 823is ............

(2) 803 (INWOFS ) IS .......ooeieiiiiiiii e
(3) 8+70+900=............
(4) 73-18= ............

(5) The number of sides of the squareis ............ sides.

Third : Answer the following :
(1) Arrange the following numbers in a descending order :
802 , 208 , 820 , 280 , 288

(2) Complete using (<, = or > ):

450 504 Two hundred and two 220

600 60 tens 28 + 39 57

(3) Write the name of each shape:

------------------------------------------------
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First : Choose the correct answer :

(1) The value of the digit0 in 709 is ........ ( 0 or 10 or 100 )
(2) The triangle has ......... vertices ( 5 or 3 or 0 )
(3) Four hundred and forty =............ ( 414 or 404 or 440 )
(4) iiiss -45= 12 ( 57 or 33 or 66 )
(5) 56 + 24 80 tens ( < or = or > )

Second : Complete the following :

(1) The number that comes right after 699is.............
(2) 6 hundreds + 5tens+4ones=.............

(3) 90+0+5=............

(4)93 -56 = ...........

(5) The number of vertices of the square-base pyramis ............

Third : Answer the following :

(1) Arrange the following numbers in an ascending order :
605, 506 , 650 , 560 , 566

(2) Dina had LE 72, She bought a T-shirt for LE 56 .
How much money were left ?

............................................................................................

(3) Use the ruler to measure the length of the red side:
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First : Choose the corre& answer :

(1) 7hundreds + 2tens+9ones= ........ ( 729 or 927 or 279)
(2) Therectangle has ......... sides ( 3 or 4 or 5 )
(3) 97-25 36+36 ( < or = or > )
4) ... +17= 43 ( 50 or 60 or 26 )
(5) 70tens = ....... hundreds ( 7 or 70 or 700)

Second : Complete the following :
(1) The smallest 3-digit number that formed from 6 and 2is ........

(2) Thespherehas............. curved face

(3) The place-value of the digit 3 in the number 723 s ...........
(4) The number that comes right after 609is ............

(5) 704 , 703 , 702 , ............ e, e,

Third : Answer the following :
(1) Writ all numbers that can be formed from the digits
5,2and 1, then complete :

(2) Khalid has 45 marbles , and his sister has 29 marbles.
Find the difference between the number of marbles that
Khalid has and that his sister has




First : Find the result: 32
45 63 75 26 +19
+18 -19 + 6 - 8 + 27

.................................................................

Second : Complete the following :
(1) The greatest 3-digit number that formed from5and 7is ..........

(2) The smallest 3-different- digit numberis ..........

(3) The value of the digit 0 in the number 604 is -.--......
(4) The number ........... comes right after 500.

(5) The time on the opposite watch is , ----coeo-.

Third : Answer the follwing :

(1) Lamar has LE 95, She bought a T-shirt for LE 42, and a ball

for LE 36,
How much money were left with her ?

-----------------------------------------------------------------------------------------------

...............................................................................................

(2) Look at the Pick a Flower pictograph and then answe :

saturday |yl Wi The day | "of nowars.
Sunday * * * Saturday
Monday *_**‘*— *__ Sunday

Tuesday *i* ** Monday

key * = 5 flowers * =10 flowers TueSday

a) How many flowers were picked on Tuesday ? ~~-----=-oeeee

b) How many more flowers were picked on Sundaythan Saturday ?

.............................

c) Which day had the most number of flowers picked ? ~~~~==~---=-=-

d) Which day had the least number of flowers picked ? ----------+---
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How to use 120 chart
in addition and subtraction

Start from 36.

move 2 steps up
( Add Tens )

move 8 steps right
( Add Ones )

e i —

\ To add 36 + 28 |

RS ——

b Start from 36.

move 8 steps right
( Add Ones )

move 2 steps up
( Add Tens )
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120 CHART

111

1121113 (114 {118{ 116} 117

118

119

120

101

102(103 /104 | 1051106 ) 107

108

109

110

81

92193 (94 |95/96 |97

100

81

828384 |85|86 |87

(4

72|73 (74|75]76 |77

78

79

B

-8a--63p64 | 65 | 66 | 67

70

51

52 {53 | 54 | 55 | 5652

=584
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41

42143144 |45 47
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31

32(33|34(35 a7

40

21

22 (23|24 (25|26 |27
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1
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18
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'SUBTRACT ONES

ADD ONES

120 CHART

111

112|113 114|115} 116} 117

118

118

120

101

102|103 104 105|108 107

108

110

81

92|93 (94 |85(96 |97

100

81

828384858687

74

72|73(74|75|76 |77

78

79

61

62|63 |64 |065)66 67

70

51

52|53 55 | 56 | 57

_£4§4'4 45|46 |47

48

49

38

39

21

32|33 ]34 1;7
2223242526 |27

28

29

30

11

12143 |14 15|16 | 17

18

18

20

1

2131415617
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'SUBTRACT ONES

ADD ONES
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\ To Subract 78- 45

° o —

120 CHART

1441}{442|113]| 114 | 145] 116|117 | 118|149} 120

1041{102{103| 104|105} 4106]107| 108|108 {110

91|92|93194 9596978899 100

>

>
S1|81|82|83)|84 |85 86|87 |88 |89 |90
Start from 78 &|[71]72|73 74| 75|76 |77 B 79 |80
R - 81/62|63 64 65|66 |67 6B |69 |70
MOVQ 4 steps dOWﬂ 2 51|52 |53 |54 55|56|57 5'! 59 |60
G| |41{a2]43]aa]45]|46|4a7|ap{ao |50
(SubtractTens) & okt [se [0
M| [21]22]23] 2425|2627 |28{20 |30
=
Move5steps left 13111212 14| 15| 16 |47 | 18| 19 | 20
( Subtract Ones ) Talalelalel7 el [0
r = ——
@
e 120 CHART
0 subtract 78 - 45 : 111} 142]113[ 114 115[118]117| 118|119 120
\ oo : 101|102/ 403|104} 105|108 107 |408| 109110
——— 1[91]02]03]04 |05 |06 |o7 |08 0o |10
; 81{82 83|84 85|86 |87 88|89 90
Start from 78 a|n]n v,afuua-u-ﬁ 60
61|62 + 64 65|66 |67 |68 89 |70
' ] o |5 5z+54 55|56 |57 |58 |59 |60
Move 5 steps left 5| 412 $ 44|45 |46 |47 |48 49 |50
(Subtract OHES) § 3132|3334 |35|36|37 38|39 40
: g 21|22|23|24|25|26 |27 (28|29 |30
MOVE4 steps dOWI'I ' 11|12]|13|14|15]| 16|47 |18 |19 |20
( Subtract Tens ) A el il ol el ol

"SUBTRACT ONES ADD ONES
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